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Question Number : 1 Question Id : 54062619434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

IGE, HFD, GEC,  ,ECA
Options :
1. * FAD
2. ¥ FDB
3. ®* FDA
4. % FBD

Question Number : 1 Question Id : 54062619434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad e & Jud ue Jrd e

IGE, HFD, GEC,  ,ECA
Options :
1. % FAD
2. ¥ FDB
3. ¥ FDA
4. % FBD

Question Number : 2 Question Id : 54062619435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

HKN, FIL, DGJ, BDH, ZCF
Options :

1. % FIL

2. % DGJ

3. ¥ BDH

4. % ZCF

Question Number : 2 Question Id : 54062619435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRaa g & TTad ug I1d B

HKN, FIL, DGJ, BDH, ZCF
Options :

1. # FIL

2. % DGJ

3. % BDH




4. % ZCF

Question Number : 3 Question Id : 54062619436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some letters are numbered as 1,2,3,4,5 and 6. In the options, four possible arrangements of these numbers are given. Choose the option so that
the letters form a meaningful word.

DR HL|\UE
1 (213 |4 6

Lh

Options :

1. ¥ 352146
2. % 254136
3. % 453216
4. % 124653

Question Number : 3 Question Id : 54062619436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B &R DY 1,2,3,4,5 3R 6 H pHifpd a1 71 B | fahedl H, 37 Gamal &1 IR THTad ouaey &t 72 €1 39 fabeq o1 w87 33 e
3{eR TH AT Xeq & b |

DR HL|\UE
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Options :

1. ¥ 352146
2. % 254136
3. % 453216
4. % 124653

Question Number : 4 Question Id : 54062619437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

G21, L4N, Q8S, V16X,
Options :

1. % B24D

2. % 724B

3. % Y32A

4. ¥ A32C

Question Number : 4 Question Id : 54062619437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad gae &

G2I, L4N, Q8S, V16X,
Options :

1. ¥ B24D

2. % 724B

3. ¥ Y32A

4. ¥ A32C

Question Number : 5 Question Id : 54062619438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ Rooster
2. % Mare
3. ¥ Bull
4. ® Tiger



Question Number : 5 Question Id : 54062619438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu e fawent & 9, 1 tw i a9 9uE || gralie, T [aded o/ diF &1 ke 7Tel & | 39 fadhed &1 98 & off 3§ @ g |
Options :

1.« i

2. % gral

3. % 9

4. % dY

Question Number : 6 Question Id : 54062619439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. #* FM: AR
2. % TK: OP
3. % PJ:KO
4. ¥ WI:RM

Question Number : 6 Question Id : 54062619439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 9, 9 te T % T THMH 81 gTdiies, T [Aded 30 9 &t e a1 81 39 fAched o1 Tu9 3 S 310 T 37T |
Options :

1. % FM: AR

2. % TK:OP

3. % PJ:KO

4. ¥ WI: RM




Question Number : 7 Question Id : 54062619440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. #* Door : Window
2. % Shoes : Shirt

3. # Pencil : Eraser

4. *® Question : Answer

Question Number : 7 Question Id : 54062619440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, o Td i3 dRih ¥ 90 § | gTallich, T [ddhed o= i ®I <RE -Tal 6| 3% fadhed HI Ia D1 ofl 30 J 3T ¢ |
Options :

1. % AT : RISt

2. Jq?r:m'c“

3. % WW@

4. % YUY . I

Question Number : 8 Question Id : 54062619441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % SPM
2. % ZWT
3. % OLI
4. ¥ WTP



Question Number : 8 Question Id : 54062619441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiiwedl A 9, &7 ve FRfya % T T0H 81 g1, U fadhed 3 i ot e el o | 39 fAdhed 1 T8 B3 off 30 I 3T 5|
Options :

1. # SPM

2. % ZWT

3. % OLI

4. ¢ WTP

Question Number : 9 Question Id : 54062619442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Cricket : Ball :: Badminton : ?
Options :

1. # Pitch

2. * Court

3. ¥ Shuttle

4. % Flick

Question Number : 9 Question Id : 54062619442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qored &1 999 B S el Ue I I UHR ¥ & § o TR ¥ gkl UE Ugd U & 9afdd g
fpobe : g . dsfiied . o

Options :



4. ® fUd®

Question Number : 10 Question Id : 54062619443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Z0OG :BQI :: ?
Options :

1. ¥ MFW : OHY
2. % NFX:PIZ

3. % LEV:KDU
4. % RKB: QJA

Question Number : 10 Question Id : 54062619443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy T <1 718 Sl ¥ 9HH ISR 4 Tafd ]

7Z0G :BQI :: ?
Options :

1. ¥ MFW : OHY
2. % NFX: PIZ

3. % LEV:KDU
4. % RKB: QJA

Question Number : 11 Question Id : 54062619444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

MSG : RNL :: UGO : ?
Options :



1. % YAS
2. ¥ ZBT
3. % WYQ
4. % XCS

Question Number : 11 Question Id : 54062619444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR J g¥R1 S Ugd Ue § Yefid g

MSG : RNL :: UGO : ?
Options :

1. # YAS

2. ¥ ZBT

3. % WYQ

4. % XCS

Question Number : 12 Question Id : 54062619445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Sink : Down :: Anger : ?
Options :

1. * Pacify

2. ¥ Rage

3. % Pleasure

4. % Placate

Question Number : 12 Question Id : 54062619445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fAdh e T 997 B 1 iR UG ¥ ST UHR I Yfdd 5 fo9 UR ¥ ORI UG Ugd Ug ¥ Haifdd g
W::ﬂ%::w:?

Options :

1. % R[7d HAT
2. ¥ BIY

3. % 3Hg

4. % il

Question Number : 13 Question Id : 54062619446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If yellow is pink, pink is orange, orange is black, black is white, white is violet, violet is blue, blue is indigo, then which among the following can
be the colour of an ant?

Options :
1. ¥ White
2. % Black
3. # Violet
4. % Blue

Question Number : 13 Question Id : 54062619446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; el et 8, Jaret AR 8, AR I 8, HTA1 WG ©, WG ST 5, ST Al &, e £fe &, @ Fafafed & 9 o= e w &id
&1 51 ahdl g7

Options :

1. v 9bg

2. % DhIdl

3. % ST

4. % e

Question Number : 14 Question Id : 54062619447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If BIRTH is coded as GDWOM, then what is the code for AWFUL?
Options :

1. # GRBZF

2. % GSBAH

3. % FSAZH

4. ¥ FRKPQ

Question Number : 14 Question Id : 54062619447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& BIRTH & GDWOM & &0 § HIfed fa1 a1 8, @ AWFUL & il 1e F1 82
Options :

1. # GRBZF

2. % GSBAH

3. % FSAZH

4. ¥ FRKPQ

Question Number : 15 Question Id : 54062619448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If BRAND is coded as 5-21-4-17-7, then what is the code for EMPTY?
Options :

1. % 9-17-20-24-29

2. % 8-16-19-23-28

3. % 5-13-16-20-25

4, % 6-14-17-21-26

Question Number : 15 Question Id : 54062619448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfd BRAND &) 5-21-4-17-7 & =0 H SlfSd fbd1 A1 g, Al EMPTY & T g F1 82
Options :

1. % 9.17-20-24-29

2. ¥ 8-16-19-23-28

3. ® 5.13-16-20-25

4. % 6-14-17-21-26

Question Number : 16 Question Id : 54062619449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a cetain code language,

ma ba ca means kiwi is fruit,

za ja means fresh vegetable,

ja ba la means brinjal is vegetable,
what is the code for 'brinjal'?

Options :
1. # ja
2. % ba
3.9 la

4. % ca

Question Number : 16 Question Id : 54062619449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fAIfEd Bls {7,

ma ba ca Pl 3‘[’&% kiwi is fruit,

za ja Pl 3 o B fresh vegetable,

ja bala Il 3 g brinjal is vegetable,
'brinjal' & foTT PIS FT 82

Options :

1. # ja

2. % ba

3.% la



4. % ca

Question Number : 17 Question Id : 54062619450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How is Gauri's brother's wife's mother-in-law's only daughter's son's father is related to her?
Options :

1. # Brother

2. % Husband

3. # Father

4. # Grandfather

Question Number : 17 Question Id : 54062619450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & UTS DI Tell 1 AN B 3BT ot B o BT Ul ST D Haferd g2
Options :

1. % 4§

2. ¥ Ufd

3. % fur

4. % QIcl/AMI

Question Number : 18 Question Id : 54062619451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, Ashmita scored more than Prachi but less than Rashi. Sakshi scored more than Prachi but less than Ashmita. Manjari scored
more than Rashi. Who scored the least among all?

Options :

1. # Rashi
2. ¥ Ashmita
3. % Sakshi
4. ¥ Prachi



Question Number : 18 Question Id : 54062619451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TeT |, AT A Ui ¥ 31w WoR fhar afe Wit ¥ o0 TR foear| gielt A ureh ¥ 31fde WHR fear dfe iftad @ &1 R
foar| AoRt = Rt O sifte TR fooar| 39 99 § 9oy HH Wb R fohaH foamn

Options :
1. % il
2. % 3fRHAl
3. % qreft
4.« Ul

Question Number : 19 Question Id : 54062619452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:

1. Elephant
2. Rat

3. Cat

4. Lion

5. Sheep

Options :

1. % 5/3,4,1,2
2.% 1,3,2,5,4
3.92,3,5,4,1
4. % 2,3,4,5,1

Question Number : 19 Question Id : 54062619452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad o aifdbe wr & caafRud H3:



1. greft

2. gl
3. foeett

4.3
5.98

Options :

1. % 53,4,1,2
2. % 1,3,2,5,4
3.02,3,5,4, 1
4, % 2,3,4,5,1

Question Number : 20 Question Id : 54062619453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ABC Consultants are looking for candidates for the post of Sales Marketing Manager. The candidate must:

1. Be a graduate in any discipline with 75 percent marks.
2. Be an MBA in marketing.

3. Have 4 years of experience in sales and marketing.

4. Be between 30 and 40 years old as on 01/01/2020.

The following exceptions apply:

A. If a candidate meets all other criteria except 3 above, but the candiadate has 6 years of relevant experience, the candidate will be referred to
the Manager.

B. If a candidate meets all other criteria except 4, he will be referred to the Assistant Manager.

Sanjana is an economics graduate with 75 percent marks. She has done her MBA in marketing from XYZ Institute. She was born on 07/01/1988.
She is working as the Sales Executive for last 12 years in TRS Company.

What decision should be taken about this candidate?

Options :

1. ¥ The candidate should be selected.

2. # The candidate should be rejected.

3. % The candidate should be referred to the Assistant Manager.
4. # The candidate should be referred to the Manager.



Question Number : 20 Question Id : 54062619453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABC $HYec ey U AT 1e7T US4 o UG & (ol STHIGAR| B W@iel $H 3@ & | SHIGAR Bi:
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A. Tfe IHIEAR I 3 I BISHR =0 Tt AHES! B R HR 8, A1 STHIGAR B UNIATH SIHT P 6 T8 g, A STHIGAR B
TSP P GG 4d [T SITE |
B. e IHEAR 4 B Blsd 30 Gt AFCSI &I R 3l 8, A1 I WSS Yeedh Bl Tafiid farar smaem|
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TRS U # fUTS 12 auf 3 9! Hriuras & U H HRid &

3 IWIGAR o 9K H & f+ofg ferar S =g

Options :

1. ¢ JHIGaR BT 9 fbar S A1fgu|

2. % JWiGaR & 3dighd o ST 18T

3. % JWIGAR P TGS USUH Pl Yaiid [l ST A1y |
4. ® Iuficar &I Ysuss B Yefid fovar s =nfgul

General Ability2
Group Number : 2
Group Id : 540626745
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 540626927
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261120
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062619454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement : Prices of fruits are increasing day by day.

Conclusion I : Fruits are a rare commodity and that is why price of fruits are rising.
Conclusion II : Demand for fruits have decreased leading to an increase in the price of fruits.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both I and II conclusion follows

4. % Neither I nor I conclusion follows



Question Number : 21 Question Id : 54062619454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY fear a1 8, o a1 &l s 1 3R 11 fau 7Tu § 1 3mueh! 37 HUAT &l I AT 8, YA 81 I8 ITHId: J1d a2 3 i
Tdid g1 3! g fofa de R b faw e fse st 7 @ & 1, afe 1< 8, d 3T 7T Sy &1 3 ERu ST 3|

HYT: Tl Bl B fed-ufafed 9¢ | |

fp 1. el U i o] ® 3R ST el Y B1Ad 96 3T B

fspY 11: Tal &1 AT H B TS § S5 HRUGR %l &) HiAd J gia §s 8
Options :

1. % Had (s [ 3ER0 T §

2. % I DY [1 TRV BT §

3. % [ 3R I G FT5hY SRR 1 §

4. 1R AG 11 FTHY IRV Hd §

Question Number : 22 Question Id : 54062619455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All singers are dancers.
Statement 2 : Some dancers are teachers.

Conclusion I : Some singers are teachers.
Conclusion II : Some teachers are dancers.

Options :

1. * Only conclusion I follows

2. % Only conclusion II follows

3. * Both I and II conclusion follows

4. % Neither I nor II conclusion follows



Question Number : 22 Question Id : 54062619455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & HY= feu U 8, o a1 gl s [ 3R 11 fau U § 1 3imueh! 39 SUAT &) I AT 8, YA 81 T8 ITHId: J1d a2 3 e udid
11 3Mue) g Mg o § & feu e el A A o a, afe 18 8, A R U el & 4 srqERur v 2|

YT 1: g TS Tdb B |
HY 2: TS AP A& g

st 1. $& T e 3

frspy 11: o e Td@ B

Options :

1. % Had (sHY | 38R0 HRT §

2. ¢ Had BN 11 IR0 Hal §

3. % 1 3R 11 gl FI5h Y SR 6% §
4. % F1 3RS 11 FTHY SR R §

Question Number : 23 Question Id : 54062619456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two statements, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given statement, if any, is sufficient to answer the question statement.

Question statement : There are 30 students in a class. What is the sum total of the ages of students in the class?

Statement I : The average age of all the students in the class is 20 years.
Statement II : The age of the youngest student is 18 years and the eldest student is 22 years.

Options :

1. ¥ Only statement I is sufficient

2. ®* Only statement II is sufficient

3. # Both statement I and II are taken together to be sufficient

4. % Neither statement I not II is sufficient

Question Number : 23 Question Id : 54062619456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Uy H U Y fear a1 &, o 91 &l 9, 1 3R 11 fRT U B 1 3Mueh! 39 Syl ol I AT §, W 81 T8 IH=Ia: J1d a3 fire
Udid 811 3Tueh! ug fAufg o R 36 3T U o § @ 1 91, afe 1S 8Y, O Uy U o1 IR &1 & fir yafw 71

T HY: Th D& H 30 BT & | H&iT H BT 1 3T BT H TN T 82

HYT I HeT P Gt B BT S d 31 20 N g
HYF II: I BIC B DI 3 18 T § 3R Yo 93 B & 3y 22 TY g |

Options :

1. ¢ $H9d HYT 1 Uad ©

2. % HId HYT 1 TATd 8

3. % HYT1 3R 11 HI B! YT & ©U H U 1Y ferm mar g
4. % THYTI R T 11 T §

Question Number : 24 Question Id : 54062619457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of action, if any, follows from the given statement.

Statement: Pick-pocketing in public transports is increasing drastically day by day.

Courses of Action:
I : More CCTV Cameras should be installed where ever possible according to available budget.
IT : Persons travelling through public transport should be taught via social media how to protect themselves from pick-pockets.

Options :

1. % Only I follows

2. % Only II follows

3. ¥ Both I and II follows
4. # Neither I nor II follows

Question Number : 24 Question Id : 54062619457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy § T HU fear a1 8, o a1 HRarE & &l HH 1 3R 11 AT U § | 3MUsp! I Y=l &l I AT 8, HA 8 I8 JHId: J1d a3
fore ol €11 3uen) g ivfa A R fob Ru e e & pr A A 19 1, afe ¥ &1, o) T T U 1 S8R Rl B

HY: FraolTb GRae § SehaR] [a-9-fad ggdt o @ 2|

HRATS DI HH:

I: YA Fole & IR S8 THT 81 981 3ATYH CCTV SR WU by 7 eyl

II: GrdSe URae & H1eqH T T B+ dTal i) ) WRret Hifear & Hreqd I Rraman 1 a1t o SawmdR) I Wd &1 sl
EI

Options :

1. ® $HId | IR0 FRAT &

2. % HAd I1 IR0 HdT &

3. ¢ 1 3R 11 ST 3TERUI hd ©

4. % 1SR TG 11 SR BT §

Question Number : 25 Question Id : 54062619458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # 9-117

2. % 14-238
3. % 17-287
4. % 6-132

Question Number : 25 Question Id : 54062619458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fowedl A 9, 7 ve FRfya % T TuH 81 g1, U fadhed 3 a9 &t e ol o | 39 fAdhed BT T8 &3 o 310 3T 5|
Options :

1. % 9-117




2. % 14-238
3. ¥ 17-287
4. % 6-132

Question Number : 26 Question Id : 54062619459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

9:162::11:7?
Options :
1. = 121
2.9 242
3. % 143
4. % 220

Question Number : 26 Question Id : 54062619459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased &1 999 B S R Ue J I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7

9:162::11:7?
Options :
1. = 121
2.9 242
3. % 143
4. = 220

Question Number : 27 Question Id : 54062619460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:



242,254, 236, 248, 230,
Options :
1. % 218
2. % 248
3. % 212
4. ¥ 242

Question Number : 27 Question Id : 54062619460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad e gad o W H:
242,254, 236, 248, 230,

Options :

1. = 218

2. % 248

3. % 212
4. % 242

Question Number : 28 Question Id : 54062619461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (x +5)>(y - 9) + 26, then which among the following is true?
Options :

1.¥ x-y>12

2. % x-y<I12

3. % x-y>22

4, % x-y<22

Question Number : 28 Question Id : 54062619461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i (x + 5)> (y - 9) + 26, Al FUIRAT A Y S I I 32
Options :

l.¥ x-y>12

2. % x-y<I12

3.% x-y>22

4. % x-y<22

Question Number : 29 Question Id : 54062619462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Venn diagrams best represents the relationship between uneducated, employed and males?
Options :

@,

V&
QO
O

e



Question Number : 29 Question Id : 54062619462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 19 91 9 3R iR, MU= SR goui & o & Heell Bl qad a1 aiidl g2

Options :

O

&
e
D
e

Question Number : 30 Question Id : 54062619463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents mothers, square represents teachers, circle represents sisters. Which area represents mothers who are
sisters but not teachers?



Options :
1. % A
2.% G
3. % B
4.¥D

Question Number : 30 Question Id : 54062619463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad srefa o, Brys Ararsii &1 ufafAfia wvar g, avf et &1 ufafAfia &1 €, 99 961 &1 ufafAfia #ar g | & a1 8
AT 1 faffied ®3a1 & o 98- € Afd e gt 82

77
S

G

Options :



1. % A
2.% G
3.% B
4. ¥ D

Question Number : 31 Question Id : 54062619464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of people in a colony who travels in car, bus and bike. How many of these people can travel in car as
well as bus?

Car

Bus

Options :
1. % 16
2.%10
3.%3

4. % 5

Question Number : 31 Question Id : 54062619464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T 37 3R A TP BTt & A bl TBAT ST T8 & SN BR, 99 3R I15h I T Hd 8| 374 I fovd AT HR & -1y 59
Wt I B Fepd B2




Il a9

(N

Options :
1. # 16
2.9 10
3. %3

4. %5

Question Number : 32 Question Id : 54062619465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between rural, women and educated ?
Options :



.©
000

Question Number : 32 Question Id : 54062619465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed & A &9 91 99 3Rg uror, wfgernsii 3ik RIfdd & s & Jaey o) Tl 33T <2idl 82

Options :

1. ¢

.00
©

3. %



Question Number : 33 Question Id : 54062619466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

1

@ O|Q@] ?

¢ N
Options :

A

O

1. #®

©

3. ¢



©

Question Number : 33 Question Id : 54062619466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 o T SR SHid U 3pid o1 SRae & ORI HRaT 82

)

?
©®0|Q
Options :

A
O
1. ®

©

3. ¢




©

Question Number : 34 Question Id : 54062619467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

EH A &
?
A m| )

Options :

O
Lv Q

)
2. % ©




3. %

Question Number : 34 Question Id : 54062619467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 o S Rt Bfa T 3 veR T Tefdrd § o TR ¥ gl i ugeh sfa 3 Gefid 31

& A 2
?

A O )

Options :

Lv Q




@
) % @

0]
o @

O
4w 1O

Question Number : 35 Question Id : 54062619468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :




Question Number : 35 Question Id : 54062619468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Rimedl 7 9, 9 te RfYd % T 9= 8| 8T, U fadhed 3 i &1 dRg el ¢ | 39 f[Ahed T I8 B off 3T I T g |

Options :




Question Number : 36 Question Id : 54062619469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

ooo|t*xx |ooo|x%x®x |gcoo|x® o ol|% =%
coo|ltxx|o o ¥ = o * ., |looo| *
ooo|«*% |Jlooo| ** |cool|x oo ¥
— | -, _}E - {_; L - _}E -
— | o= S llec|Z|oce | (e
(A) (B) (C) (D)

Options :



1. ® Image A
2. % Image B
3. ® Image C
4. ¥ Image D

Question Number : 36 Question Id : 54062619469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 oF O fadwed sRaen & 7Tad Spid |2

O OO0 |¥ad 000 |ThH cooo|® % (o] o|l* *
000 T [a] [n] * ) o ir* o000 -4
cooo|x%*% |ooo| ** |ooo|x o0 *
—| e |t | lce |2 |lec | |ce
—|ce | |eo | 2o | |eo

(A) (B) (C) (D)

Options :

1. % BAA

2. % BfdB

3. % Bfdc

4. ¢ 3D

Question Number : 37 Question Id : 54062619470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, four position of the same dice is given. Which letter will be at the face opposite to the face having the letter G?




Options :
1.¥V
2. %8
3.% R
4. % 0

Question Number : 37 Question Id : 54062619470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy d T 8 U &) TR fRufa 1 1E 81 G 31&R I1d Bhad & fAuRid aTd el UR HIH T 31&R g2

G W 0 s

o] 0 v G

Options :
1.¥V
2.% S
3. % R
4. % 0

Question Number : 38 Question Id : 54062619471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube is painted Red on two adjacent faces, Blue on other two adjacent faces and Green on the last two adjacent faces. This cube is cut into 16
smaller cubes. How many of these smaller cubes will have one face Blue, the other face Green and no colour on the remaining faces?

Options :
1. %9
2. % 8
3.% 4
4. ¥ 6



Question Number : 38 Question Id : 54062619471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U9 &1 3 AU BAD! () TR AT, 30 & JoId Badh! () W il 3R 3MRas) & I Bad! () W e J Ue frarsrar g1 39
YT DI 16 BIC T B HIT @1 8 1 390  fhda B g4I 7 U Watd () T, GOR1 B () 81 3R d1eh! B! () WR Bis I
T8I ghT?

Options :

1.%9

2. %8

3. %4

4.v6

Question Number : 39 Question Id : 54062619472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

S

Options :

L]

—
L




[ .
| 1
2. % ==
Ll 1
Ll 1
3. —
4, %

Question Number : 39 Question Id : 54062619472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR AHA W, I MM BT I97 B forH Uy 3dhid fdlafaed g

S

Options :

L]

e
L




[ .
| 1
2. % ==
Ll 1
Ll 1
3. —
4, %

Question Number : 40 Question Id : 54062619473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to complete the question figure?

y
%

Options :




Question Number : 40 Question Id : 54062619473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad o 9 & T SR AHA U, U 3P DI IR H & foIE SIS o7 Tl &2



Options :




General Awarenessl

Group Number : 3

Group Id : 540626746
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 540626928
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261121
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062619474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following folk music of Madhya Pradesh is a heroic ballad song with intricate words?
Options :



1. ¥ Alha

2. # Pandavani
3. % Pai

4. % Dadra

Question Number : 41 Question Id : 54062619474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L YR & HETIRad didh Wiiid § & I 91 Sfed eal o A1y T dR M1 3fd 52
Options :

1. ¢ 3legl

2. % UgdHl

3. % U3

4. % qlaxT

Question Number : 42 Question Id : 54062619475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is also known as "Harmandir Sahib"?
Options :

1. % Bangla Sahib, Delhi

2. ¥ Golden Temple, Punjab

3. # San Sahib, Punjab

4. % Jagannath Temple, Odisha

Question Number : 42 Question Id : 54062619475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e @ A fby "gwfeR Fifgs & A1H § Hi ST Sfrl &2

Options :

1. % ST Oifes, foeett



2. ¢ ol AfeR, U
3. % I IR, UoTe
4. % SATATY HieR, Sfifswm

Question Number : 43 Question Id : 54062619476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Chhari Festival is celebrated in which of the following states/union territories of India?
Options :

1. # Odisha

2. % Haryana

3. % Karnataka

4. % Jammu and Kashmir

Question Number : 43 Question Id : 54062619476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & fFgfoRad Isahds wnla vl & T fog § 3Rt igR 941 SiTdT 82
Options :

1. % 3nfgem

2. % gfagron

3. % PHlcH

4. ¥/ ST 3R HYER

Question Number : 44 Question Id : 54062619477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following dance forms of Gujarat was originally performed after the successful hunting of animals?
Options :

1. ¥ Siddi Dhamal

2. % Padhar



3. # Dandiya
4. # Tippani

Question Number : 44 Question Id : 54062619477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ToRTd & R T Ul & § & AT IHR] & RIGR &1 THadl & 916 Jo U J {1 Sirar o1
Options :

1. ¢ RE qmma

2. % UYR

3. % gifear

4. % fouwr

Question Number : 45 Question Id : 54062619478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is defined as the minimum interest rate of a bank below which it cannot lend, except in some cases allowed by the
RBI?

Options :

1. ¥ Base rate

2. # Repo rate

3. % Reverse repo rate

4. ¥ (Call money rate

Question Number : 45 Question Id : 54062619478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁyﬁﬂ?aﬁ@r%& RBI GRT 3 $ A & SATdT, §& D1 GAaH 1ol &R o =4 H gRUTN fasar a1 § forss -id a8 SUR el &
Hohdl &7
Options :

1.¢ 9g3c
2. % 3OIT




3. % g e
4. % B AT

Question Number : 46 Question Id : 54062619479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks sponsored the first regional rural bank in India by name Prathama Bank?
Options :

1. * Punjab National Bank

2. ¥ Syndicate Bank

3. % Bank of India

4. % State Bank of India

Question Number : 46 Question Id : 54062619479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed & § &9 W §& 3 TyH dF & A1 ¥ YR H IgaT &5 T §& S grford faan
Options :

1. % USE A%Ed dF

2. ¢ Rifgdhe d%

3. % do 3 Sfean

4. % YR WC §F

Question Number : 47 Question Id : 54062619480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a method adopted by RBI to maintain the liquidity of economy?
Options :

1. ¥ Buying of government bonds

2. # Maintaining cash reserve ratio

3. % Buying of shares



4. # Decreasing repo rate

Question Number : 47 Question Id : 54062619480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed 3 3 oF W@ te fafy 761 8 St RBI §RT sricawy o AfY &1 ST @ & fTT SIo-maT ST 82
Options :

1. % WK I Bt WG

2. % dhc RE SIUId PI §T QT

3. ¢ R Bl WG

4. % gediUINe

Question Number : 48 Question Id : 54062619481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks is authorised for providing credit for the development of agriculture?
Options :

1. ¥ NABARD

2. % RBI

3. % SBI

4. % SIDBI

Question Number : 48 Question Id : 54062619481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & O dF S & faer & o B0 uem & & o siftigd 82
Options :

1. ¢ FTaTS (NABARD)

2. ¥ RBI

3. % SBI

4. % fedl (SIDBI)




Question Number : 49 Question Id
Orientation : Vertical

: 54062619482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is not a component of fiscal policies adopted by the Government?

Options :

1. ¥ Cash reserve ratio

2. % Government spending
3. #* Taxes

4. ¥ Subsidies

Question Number : 49 Question Id
Orientation : Vertical

: 54062619482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fFofefed § ¥ o W TRSR gRT 3MUATS T8 IS N il &1 T ged el 82

Options :

|. ¢ g Rl U
2. % BRI G

3. % g

4. % gfeyst

Question Number : 50 Question Id
Orientation : Vertical

: 54062619483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is not an example of abiotic natural resource?

Options :
1. # Iron
2. ¥ Coal
3. # Silver
4. % Gold

Question Number : 50 Question Id

: 54062619483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ o1 I erifdew Whfaes Ta1eq o1 IR0 761 /2
Options :

1. % Qg

2. ¢ Il

3. % dfat

4. % T

Question Number : 51 Question Id : 54062619484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A type of motion in which all parts of an object move in the same direction in a given time is called motion.
Options :

1. ¥ translation

2. % rotational

3. % periodic

4. % oscillation

Question Number : 51 Question Id : 54062619484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR &1 i ForgH fpst axg & it wmus Rfd g A we S e A aad €, S/ T Fgd &
Options :

1. ¢ RIFFRY

2. % YU

3. % 3radf

4. % gl

Question Number : 52 Question Id : 54062619485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Jaldapara National Park located?
Options :

1. # Tamil Nadu

2. % Kerala

3. ¥ West Bengal

4. % Madhya Pradesh

Question Number : 52 Question Id : 54062619485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIereTaTST PR IEH Fafaed 7 ¥ fow ou # fud 82
Options :

1. % e g

2. % d

3. ¢ Ui §Td

4. % ALY

Question Number : 53 Question Id : 54062619486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following defects is also known as far-sightedness?
Options :

1. % Myopia

2. % Cataract

3. % Hypermetropia

4. ¥ Presbyopia

Question Number : 53 Question Id : 54062619486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford <Y &1 gRef® & A1 9 o S S g2




Options :

1. % (Apce®

2. % mifoarfse

3.  BIIWRACIUAT
4. % OgarIfoa

Question Number : 54 Question Id : 54062619487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Earthworms belongs to which of the following phyla?
Options :

1. % Platyhelminthes

2. ¥ Annelida

3. % Porifera

4. % Arthropods

Question Number : 54 Question Id : 54062619487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e e # 9 forg 9o 4 Heifdd g2
Options :

1. % WA

2. ¢ UAferST

3. % ORI

4. % FfRUIG

Question Number : 55 Question Id : 54062619488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is also known as "Salt Sea"?
Options :



1. ¥ Dead Sea
2. # Caspian Sea
3. ® Red Sea

4. % Mediterranean Sea

Question Number : 55 Question Id : 54062619488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & 3 5 <arT avRe & 919 § o S S
Options :

1. ¥ Hd 9’k

2. % BHIRYTT MR

3. % e 9TR

4. % YHH YR

Question Number : 56 Question Id : 54062619489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mediterranean Sea is an intercontinental sea that stretches from the Ocean on the west to Asia on the east and separates Europe
from Africa.

Options :

1. ¥ Atlantic
2. ¥ Indian

3. % Pacific
4. ® Arctic

Question Number : 56 Question Id : 54062619489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%{quwmﬁrﬁawéﬁﬁmﬁ ERITR I O gd H TR a% Bal §of § 3R JRIU &1 SMIdT I ST ddl
|

Options :



1. ¢ 3[cdifcd
2. % fg
3. % TR

4. % FTRYA

Question Number : 57 Question Id : 54062619490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following types of mountains is also known as "Horst"?
Options :

1. # Volcanic Mountains

2. # Fold Mountains

3. % Block Mountains

4. % Residual Mountains

Question Number : 57 Question Id : 54062619490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 @ {59 UeR & udd &1 "8I & A1 J it ST ST 82
Options :

1. % SITeTg™t udd

2. % gford udd

3. ¢ GUS Udd

4. % 3Ry Udd

Question Number : 58 Question Id : 54062619491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers was earlier known as Sadanira?
Options :

1. ¥ Gandak



2. * Kosi
3. #® Chambal
4. % Betwa

Question Number : 58 Question Id : 54062619491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea Ffeal 7 9 f8 IR & 719 T Ugd ST SiTdT U1
Options :

1. ¢ T8h

2. % DIl

3. % g9

4. % qdd

Question Number : 59 Question Id : 54062619492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1916, the Lucknow Pact was signed between

Options :

1. # Indian National Congress and British

2. ¥ Indian National Congress and Muslim League
3. % British and Sikh

4. % Sikh and Indian National Congress

Question Number : 59 Question Id : 54062619492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1916 §, TETS AT TR & ol gxier feu e 9|

Options :
1. % YR I Y SR fofewr
2. ¢ YRA AP ST 3R FReH o



3. % fyfewr ok g
4. % TG 3R YR AP B

Question Number : 60 Question Id : 54062619493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Mughal emperors was succeeded by Jahangir?
Options :

1. ¥ Akbar

2. % Humayun

3. % Babur

4. # Aurangzeb

Question Number : 60 Question Id : 54062619493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad gra gurel & @ 5y o1 STRIeR SRR gR ferar mar ur
Options :

1. ¥ 3hdX

2. % g

3. % dlaR

4. % A

General Awareness2

Group Number : 4

Group Id : 540626747
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 540626929
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261122
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062619494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Cripps Mission come to India?
Options :

1. # 1935

2. % 1912

3. % 1928

4. % 1942

Question Number : 61 Question Id : 54062619494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e FRM URd H &d 3mm



Options :
1. % 1935
2. % 1912
3. % 1928
4.9 1942

Question Number : 62 Question Id : 54062619495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of Utpala Dynasty?
Options :

1. % Krishnavarman

2. % Gopalavarman

3. % Avantivarman

4. % Sankaravarman

Question Number : 62 Question Id : 54062619495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Faffed § 3 SH Iad 31 &1 TRIYS U1?
Options :

1. % HUNaHT

2. % TMYTeaH=

3. ¢ Sfaf=rar=

4. % QHqHA

Question Number : 63 Question Id : 54062619496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ishwar Chandra Vidyasagar started the first school for girl’s education in Calcutta in
Options :

1. % 1875



2.9 1849
3. % 1862
4. % 1898

Question Number : 63 Question Id : 54062619496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$9R T IR A e 8§ ¥ wrferent fRren & forg ugan femag R fasar|
Options :

1. % 1875

2.9 1849

3. % 1862

4. % 1898

Question Number : 64 Question Id : 54062619497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandrayaan-1 was India's first lunar probe. It was launched under the chairmanship of
Options :

1. # Krishnaswamy Kasturirangan

2. # K. Radhakrishnan

3. % A.S. Kiran Kumar

4. ¥ G. Madhavan Nair

Question Number : 64 Question Id : 54062619497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A -1 HRd BT Ugdl Ig MY T UT| TqHT P A H Y& fobar T o
Options :

1. % U HERIRT
2. % &, AYTHUH




3. % U U9, foRu AR
4. ¢ Sff. A1 ARR

Question Number : 65 Question Id : 54062619498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following released a book titled 'Karmayoddha Granth' in New Delhi on 7 January 2020?
Options :

1. % Narendra Modi

2. # Arvind Kejriwal

3. ¥ Amit Shah

4. # Rahul Gandhi

Question Number : 65 Question Id : 54062619498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 farem 7 SFaRt 2020 1 s el § 'SwHAG Y AHS KD $I USRI fadn
Options :

1. % Rg Il

2. % 3Rfdq HoRlard

3. ¢ 3{fHd T8

4. % g i

Question Number : 66 Question Id : 54062619499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Malala Yousafzai received the Nobel Prize for Peace at the age of
Options :

1. % 20

2.% 17

3.% 22



4. % 19

Question Number : 66 Question Id : 54062619499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HaTel GBS Pl @ 3g  RMifd & AT ied RBR i
Options :

1. % 20

2.9 17

3.% 22

4. % 19

Question Number : 67 Question Id : 54062619500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Subrahmanyam Chandrasekhar received the Nobel Prize in 1983 for his contribution in the field of
Options :

1. ¥ physics

2. % literature

3. % chemistry

4. % peace

Question Number : 67 Question Id : 54062619500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISTRIUI TG Bl & &F H 3% ANTeM & oY 1983 H Aed [IHR fHa|
Options :

1. ¢ ifcrat

2. % g

3. % 3G fagm

4. % 9qfd



Question Number : 68 Question Id : 54062619501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The International Weightlifting Federation (IWF) has imposed disciplinary sanctions on and banned both the countries from
participating in weightlifting events at the Tokyo Olympics 2020.

Options :

1. # Japan and Spain

2. ® Thailand and India

3. # Malaysia and India

4. ¥ Thailand and Malaysia

Question Number : 68 Question Id : 54062619501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRIIT HeY (IWF) 3 TR SRS Ufdee TN § 3R GIF1 SR &1 el Siaffies 2020 H HRIIeH
3 & Y11 A9 @ Ufeifia R fear B

Options :

1. % SO 3R WA

2. % YTFAUS 3R HRd
3. % HARMT 3R YR
4. ¢ YIS 3R TR

Question Number : 69 Question Id : 54062619502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following state governments has launched "Operation Shield" on 9th April 2020?
Options :

1. ¥ Delhi

2. % Mabharashtra

3. % Gujarat

4. ¥ West Bengal



Question Number : 69 Question Id : 54062619502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 ford Is0 WRBR A 9 370d 2020 DT TR M@ HT YURY fovar g2
Options :

1. ¢ faeait
2. % HERIY
3. % ORI
4. % UigH ST

Question Number : 70 Question Id : 54062619503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Central Reserve Police Force (CRPF) celebrated the 55th CRPF Valour Day (Shaurya Diwas) on 2020.
Options :

1. % 2 April

2. % 20 March

3.9 9 April

4. % 12 March

Question Number : 70 Question Id : 54062619503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F<ia Rerd gfers s (creF) A 2020 Y 5587 CRPF dRal feaw (=i feaw) w=ma|
Options :

1. % 2 310

2. % 20T/

3. 9 30

4. % 127019



Question Number : 71 Question Id : 54062619504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states hosted the Global Potato Conclave 2020?
Options :

1. * Rajasthan

2. ¥ Gujarat

3. ¥ Maharashtra

4. % Madhya Pradesh

Question Number : 71 Question Id : 54062619504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiRad Ioal & 9 foram Ay 3iTe] TWEH (Aed Ulee] Siaaid) 2020 B ASTEHT H12
Options :

1. % SIRYTH

2. ¥ ISRId

3. % HeRIY

4. % GL YR

Question Number : 72 Question Id : 54062619505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments is popularly known as "Anti-Defection Law"?
Options :

1. % 52nd

2. % 40th

3. % 6lst

4. % 69th

Question Number : 72 Question Id : 54062619505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad Haenfe e § 9 fod "qasea-faRid S & A8 ¥ ST o1dl 52
Options :
1. ¢ 52a]
2. % 4041
3. % 61d]
4. % 69di

Question Number : 73 Question Id : 54062619506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 23 and 24 of the Indian Constitution deals with the
Options :

1. # Right to Freedom

2. # Right to Equality

3. ¥ Right Against Exploitation

4. # Cultural and Educational Rights

Question Number : 73 Question Id : 54062619506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &7 rgwdg 23 3R 24 EREIRCE
Options :

1. % T BT YDBR

2. % GHA BT TR

3. ¢ Q0T & R SifepR

4. % qRpidd AR e iR

Question Number : 74 Question Id : 54062619507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many members of the Rajya Sabha are nominated by the President?
Options :

1. % 15

2.9 12

3. % 8

4. % 18

Question Number : 74 Question Id : 54062619507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISUHHT & e gawa YUl gRT A fbT oird 82
Options :

1. % 15

2.% 12

3.% 8

4. % 18

Question Number : 75 Question Id : 54062619508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years was the last meeting of the Constituent Assembly held?
Options :

1. % 1940

2. % 1947

3. % 1959

4. % 1950

Question Number : 75 Question Id : 54062619508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifed 3 @ foow o & Wfaym ww ot sifom o smaifSrd &1 718 ot

Options :



1. * 1940
2. % 1947
3. ¥ 1959
4. % 1950

Question Number : 76 Question Id : 54062619509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams holds the record of winning the Under 19 Cricket World Cup most number of times as of April 2020?
Options :

1. ¥ India

2. % Australia

3. # Pakistan

4. # England

Question Number : 76 Question Id : 54062619509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed & 3 oF W@ W ol 2020 6 G4 H® IR 3SR 19 fovdbe fay HU Siid= &1 RIS ST 82
Options :

1. HRd

2. # 3ffecfer

3. % Tlfded™
4. % QUG

Question Number : 77 Question Id : 54062619510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following holds the record of most wins at the Women's World Team Badminton Championships for the Uber Cup as of 31st
March 2020?

Options :
1. # United States



2. * Indonesia
3. % Japan
4. % China

Question Number : 77 Question Id : 54062619510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 fbem 31 A" 2020 T IR U & g Afga fay Sw dsfiie <R & e it sitd 1 Repls s 82
Options :

1. % ggad Iy

2. % SSHRME

3. % NI

4. I

Question Number : 78 Question Id : 54062619511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first three Cricket World Cups were also called World Cups.
Options :

1. # Ecstatic

2. ¥ Prudential

3. # Primary

4. % Historical

Question Number : 78 Question Id : 54062619511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl o fobdbe fay U &1 fasy by i g1 Srar Ul
Options :

|, ® TRSTCH
2. ¢ YSRId




3. % TTSHERL
4. % fgwIR®d

Question Number : 79 Question Id : 54062619512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the only batsman from England to score more than 10,000 runs in Test Cricket as of April 2020?
Options :

1. ¥ Alastair Cook

2. % Kevin Pietersen

3. # Andrew Strauss

4. % Alec Stewart

Question Number : 79 Question Id : 54062619512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad o 9 S o1lid 2020 T& ¢xe fohdbe H 10,000 F 3fAH I T ATA SAUS HT THA TIaTS 57
Options :

|. ¥ TR HD

2. % hidd Uled

3% Tgg ¥

4. % TAd Tlac

Question Number : 80 Question Id : 54062619513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following holds the record of winning the most Grand Slam titles as of April 2020?
Options :

1. # Rafael Nadal

2. # Novak Djokovic

3. % Roger Federer



4. * Andy Murray

Question Number : 80 Question Id : 54062619513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 &1 3ilie 2020 AP Ja9 31 U W Gdre siid- &1 Repls 1@dr g2

Options :
1. * WP STl
2. % A1 Splfdd
3. ¢ AR BSR
4. % TSI
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Edit Attended Group? : No
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Group Marks : 20
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Arithmetic Abilityl
Section Id : 540626930
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Number of Questions : 20

Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261123
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062619514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (3.8 x 12.7 + 3.8 x 13.5 - 3.8 X 6.2)?
Options :

1. % 380

2. % 200

3. % 98

4. ¥ 76

Question Number : 81 Question Id : 54062619514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(3.8 x12.7+3.8x13.5-3.8x% 6.2)@%@%‘?
Options :

1. # 380

2. % 200

3. % 98

4. %76

Question Number : 82 Question Id : 54062619515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the greatest number that will divide 41, 91 and 126 so as to leave the same remainder in each case?
Options :

1. % 4



2.%3
3.% 6
4.5

Question Number : 82 Question Id : 54062619515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY TSt ST RTE ST 41, 91 3R 126 B TAHIRST Sl arfes Ul fUfd A 98 ga7 Jvhd 3182
Options :

1. % 4

2. %3

3.% 6

4. 95

Question Number : 83 Question Id : 54062619516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of three consecutive even numbers and three consecutive odd numbers is 333. Difference between the largest even number and the largest
odd number is 21. What is the sum of smallest even number and smallest odd number?

Options :
1. ¥ 107
2. % 111
3. % 115
4. % 105

Question Number : 83 Question Id : 54062619516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& AT gH T=nalt 3R i AT fawH Tl o7 9T 333 B 1 Jad Fof I T8 3R Jad g favH e H 3R 21 81 999 Bt
T AT 3R GG BIcT [ATH =T BT IR R 52

Options :

1. ¥ 107




2.% 111
3. % 115
4. % 105

Question Number : 84 Question Id : 54062619517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a pair of fractions, Fraction P is thrice Fraction Q and the product of the two fractions is 3/49. What is the value of Fraction P?
Options :

1. % 1/7

2. % 2/7

3.9 3/7

4. % 4/7

Question Number : 84 Question Id : 54062619517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

firg Y U SISl H, i p, e Q ST o AT § SIR & T BT UH%d 3/49 § | fHF p &1 AH 1 82
Options :

1. * 1/7

2. % 2/7

3.9 3/7

4. = 4/7

Question Number : 85 Question Id : 54062619518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the equivalent single discount for two successive discounts of 5 percent and 15 percent?
Options :

1. ¥ 19.25 percent

2. % 14.25 percent

3. % 19 percent



4. % 20 percent

Question Number : 85 Question Id : 54062619518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fa=rd 3R 15 Ufa=d &1 &) % Fe & o7E qHdwe Thd e R 82
Options :

1. ¢ 19.25 gfd=rd

2. % 14.25 Ufa=rd

3. % 19 gid=rd

4. % 20 yfa=rd

Question Number : 86 Question Id : 54062619519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average monthly income of A and B is Rs. 10200. The average monthly income of B and C is Rs. 9800 and the average monthly income of
A and C is Rs. 12250. What is the monthly income of B?

Options :

1. % Rs. 12650
2. % Rs. 11850
3. #® Rs. 10550
4. ¥ Rs. 7750

Question Number : 86 Question Id : 54062619519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B P 3Nd AR 3T 10200 TUT § | B 3R C 1 3T ATRID 31T 9800 TUYT § 3R A 3R C DI 3N HIRIP 3 12250 TUTE |
B & HIRYP 3T 3T 82

Options :

1. % 12650 >UU
2. % 11850 ®UU
3. % 105504



4. % 7750 34U

Question Number : 87 Question Id : 54062619520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper buys 60 pencils at the marked price of 48 pencils from a wholesaler. If he sells these pencils giving a discount of 0.5 percent then
what is the profit percent?

Options :

1. ¥ 24 percent

2. % 20.82 percent
3. % 24.375 percent
4. % 22.485 percent

Question Number : 87 Question Id : 54062619520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMGER U U1 HTART I 48 TRIAT & fafgd Ted WR 60 URIe @i g1 afe 8 0.5 UII=Id &1 B G 31 URiell o oddl § af oy
gfa=rd w82

Options :

1. % 24 gf=rd

2. % 20.82 Ufd=Id

3. ¢ 24.375 Ufd=Id

4. % 22485 Yfa=rd

Question Number : 88 Question Id : 54062619521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper had some books, notebooks, pencils and erasers. He sells 55 percent of the total units and still has 180 units. How many units he
had originally?

Options :
1. % 500
2.9 400



3. % 450
4. %= 520

Question Number : 88 Question Id : 54062619521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHMER & U $ fhdld, Alegd, URie ok I6€ 3| 98 5 SHIST &1 55 U= Sardl § SiR st off 39 Uy 180 361341 6
3P TN Jd ¥ ¥ fordit gaprsar A

Options :

1. % 500

2. ¢ 400

3. % 450

4. % 520

Question Number : 89 Question Id : 54062619522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a competition exam, Abhinav, Alok and Vikas got first, second and third prize respectively. The first prize was of Rs. 5000, second prize was
of Rs. 3000 and third prize was of Rs. 2000. What percent of total prize money did Vikas got?

Options :

1. #* 30 percent
2. % 24 percent
3. % 20 percent
4. % 25 percent

Question Number : 89 Question Id : 54062619522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ufaaiirar usten &, g, aid 3R fawT &1 HHRT: Ugdl, GERT 3R TR REBR Hd | T8d REBR 5000 FUT BT AT, GERT
qRIHR 3000 FYT BT AT 3R FRRT RIBR 2000 TIT BT AT | fIHT BT Hd RIBR 1A BT foa-1 ufa=rd e

Options :

1. % 30 Ufaerd




2. % 24 yfawrd
3.+ 20 Ufa=d
4. % 25 gfa=Id

Question Number : 90 Question Id : 54062619523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers A and B are such that, the sum of 1 percent of A and 1 percent of B is two-fifth of the difference of 5 percent of A and 2 percent of
B. What is the ratio of A and B?

Options :
l.% 4:9
2.% 4:5
3.%5:4
4.9 9:5

Question Number : 90 Question Id : 54062619523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&I TEATE A R B U 8 foh, A & 1 Ufai=rd 3R B & 1 Ufa=1d &1 a1, A & 5 UfA=Id SR B & 2 TiA=id & SicR &1 al-Uraal ol g | A 3T
B &1 SJUTd &1 82

Options :
1.% 4:9
2.% 4:5
3.% 5:4
4.9¥9:5

Question Number : 91 Question Id : 54062619524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be 220 percent of a number whose 180 percent is 1357
Options :

1. ¥ 165



2. % 180
3. % 175
4. %= 200

Question Number : 91 Question Id : 54062619524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T T 220 UIRTT T R et 180 T=Td 135 82
Options :

1. ¥ 165

2. % 180

3. % 175

4. % 200

Question Number : 92 Question Id : 54062619525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravina purchases a fan and sells it for Rs. 2200. If she incurs a loss of 12 percent then what is the cost price of the fan?
Options :

1. * Rs.2440

2. ¥ Rs. 2500

3. % Rs. 2350

4. % Rs. 2600

Question Number : 92 Question Id : 54062619525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U U1 WRiedl & SR 39 2200 $UU & Sdl § 1 IS 98 12 UiA=Id &1 JHUM Solkil § o) U B ANTd Jed 31 82

Options :
1. # 24404
2. % 2500 %UU



3. % 23504
4. % 2600 >UU

Question Number : 93 Question Id : 54062619526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The owner of a mobile shop charges 15 percent more than the cost price. If a customer paid Rs. 9200 for a mobile phone then what is the cost
price of the mobile phone?

Options :

1. ¥ Rs. 8000
2. % Rs. 8800
3. % Rs. 7900
4. % Rs. 7800

Question Number : 93 Question Id : 54062619526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP N2 D1 gD BT AIfID AT Jed I 15 Tawrd % Yoob Ad1 g1 S Dl e AaZd B & fo1T 9200 TUT BT YA 3l &
A AlETSd B B! AT Hedl 1 82

Options :

1. ¢ 8000 ¥UY

2. % 8800 3UY

3. % 7900 YU

4. % 7800 ¥UY

Question Number : 94 Question Id : 54062619527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan owns a field worth of Rs. 40000. He sells it to Kajal at a profit of 10 percent. After some time, Kajal sells it back to Rohan at 5 percent
loss. What is the profit or loss percent of Rohan?

Options :

1. #¥ 5 percent loss



2. % 5.5 percent loss
3. % 5.5 percent profit
4. # 5 percent profit

Question Number : 94 Question Id : 54062619527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A8 & UM 40000 FUY & Hed H1 Wd & | 98 3 10 TR & ATH TR HToId B ol ¢ | $S JHI 9IS, HIod 39 5 Wia=rd g1 IR o
UG DI o Gl § | g BT AT T JT Hf=Td o1 82

Options :

1. % 5 gf=1d g1

2. % 5.5 Yia=Id g

3. ¥ 5.5 Ufa=Id o

4. % 5 Ufa=Id oy

Question Number : 95 Question Id : 54062619528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compounded ratio of (1 : 3), (5 : 11) and (22 : 25)?
Options :

1. % 1:25

2.% 3:5

3.% 11:25

4.+ 2:15

Question Number : 95 Question Id : 54062619528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(1:3),(5: 11) 3R (22 : 25) BT Tl ST T 82
Options :

l.* 1:25



2.% 3:5
3. % 11:25
4.4 2:15

Question Number : 96 Question Id : 54062619529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is to be distributed among Ram, Shayam, Hari and Mohan in the proportion of 5 : 7 : 8 : 11. If Hari gets Rs. 240 more than Ram
then what is Mohan's share?

Options :

1. ¥ Rs. 440
2. % Rs. 550
3. % Rs. 660
4. ¥ Rs. 880

Question Number : 96 Question Id : 54062619529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5:7:8: 11 % 3IUTd | I, 79, BN 3R Higd & dfig o= A &1 faavur fevar S 81 afe g &1 7\ F 240 FU 3ifee e § af Higd
1 e R 82

Options :

1. # 440U

2. % 550®Uq

3. % 660 >UU7

4. % 880 >UU

Question Number : 97 Question Id : 54062619530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divide Rs. 6014 among X, Y and Z such that 2 times X's share, 3 times Y's share and 5 times Z's share are all equal. What are the shares of X, Y
and Z respectively?

Options :



1. ¥ Rs. 2910, Rs. 1940, Rs. 1164
2. ® Rs. 2410, Rs. 2048, Rs. 1556
3. ¥ Rs. 3020, Rs. 1580, Rs. 1414
4. % Rs. 2890, Rs. 1860, Rs. 1264

Question Number : 97 Question Id : 54062619530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6014 FUT DT X, Y 3R Z & o9 59 dve U fAuIiord & o 2 71 X &1 iR, 3 A1 Y 1 fenn SiR 5 71 2 1 feeey ot aRIeR § 1 9= X,
Y 3R z T g s g2

Options :

1. % 2910 %UC, 1940 ¥UU, 1164 34U
2. % 2410%UT, 2048 2UU, 1556 ¥UUY
3. % 3020 ®UC, 1580 ®¥UU, 1414 >UQ
4. % 2890 ®UU, 1860 2UU, 1264 >UY

Question Number : 98 Question Id : 54062619531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alloy P contains 70 percent Copper and 30 percent Zinc. Alloy Q contains 40 percent Copper, 25 percent Zinc and 35 percent aluminium. Alloy
P and Q are mixed in the ratio of 1 : 3. What is the ratio of Copper and Zinc in the newly formed alloy?

Options :
.%1:1
2.9 38:21
3. % 21:41
4, % 41:30

Question Number : 98 Question Id : 54062619531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

firerg p & 70 Uf=ra afeT 3R 30 Ufdr=rd SRar gia 81 firsig @ o 40 Ufar=ra aie, 25 Ufard S iR 35 ufa=rd vegfiifom giar g | fisng p
SR QP 1:3 % 3urd & AfSra fomam T § | 16 o sy & e SfR STl T 3UTd o1 82



Options :
1.% 1:1
2.9 38:21
3. % 21:41
4. % 41 :30

Question Number : 99 Question Id : 54062619532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anuradha lent Rs. 4000 to Ankit for 2 years and Rs. 6000 to Chitra for 3 years on simple interest at the same rate of interest and received Rs.
1560 in all from both of them as interest. What is the rate of interest per annum?

Options :

1. # 4 percent
2. # 5 percent
3. % 6 percent
4. # 10 percent

Question Number : 99 Question Id : 54062619532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRTYT 7 3ifard B 2 T & AT 4000 AT TR AT BT 3 T8 & oMW 6000 FUT AT & THM & TR ARV &S R IR e iR g 4
1560 TUT & =0 & &GS YT fopa | U I 7ot o= Fm 82
Options :

1. % 4 gfa=rd
2. % 5 gfa=rd
3. ¢ 6 gfa=rd
4. % 10 gfaerd

Question Number : 100 Question Id : 54062619533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There is 50 percent increase in an amount in 5 years at simple interest. What will be the compound interest of Rs. 15000 after 2 years at the same



rate?

Options :

1. # Rs. 8150
2. % Rs. 6050
3. # Rs. 4150
4. ¥ Rs. 3150

Question Number : 100 Question Id : 54062619533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TERUT SIS TR 5 I8 H U AR H 50 UfA2d 1 gfG Bl 81 2 I8 a8 IUT &R W 15000 FUY BT Fehgfeg ST T G 2

Options :

1. % 8150%UU
2. % 6050>UU
3. % 41504
4.+ 3150 30U

Arithmetic Ability2
Group Number : 6
Group Id : 540626749
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2
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Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 5406261124
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062619534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between simple interest and compound interest on Rs. 10000 for 1 year at 20 percent per annum compounded half-yearly?
Options :

1. ¥ Rs. 100

2. % Rs. 125

3. % Rs. 135

4. % Rs. 150

Question Number : 101 Question Id : 54062619534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yiferas 20 UfcrTd TR 1 9N & T 10000 FUT TR YR TS 3R <Ashqleg: STl o siidl &1 3R & For refanities U 4 Fshafe foban 11 82
Options :

1. ¥ 100 ¥UY

2. % 125307

3. % 13537Q

4. % 150 30T




Question Number : 102 Question Id : 54062619535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what rate of compound interest per annum will a sum of Rs. 75000 become Rs. 84364.80 in 3 years?
Options :

1. # 10 percent

2. % 12 percent

3. % 8 percent

4. ¥ 4 percent

Question Number : 102 Question Id : 54062619535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 auf H, 75000 TUT BT & IR U I Teh g STST & [ aX TR 84364.80 ¥UT BT ST
Options :

1. % 10 Ufa=ra

2. % 12 gfa=a

3. % g yfa=ma

4. ¢ 4 9faed

Question Number : 103 Question Id : 54062619536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akash reaches office 30 minutes late by travelling at a speed of 2 Km/hr. If he travels at 4 Km/hr, he reaches 15 minutes earlier, then what is the
distance Akash has to travel to reach office?

Options :

1. % 5Km
2. % 3 Km
3. % 10 Km
4. % 8 Km

Question Number : 103 Question Id : 54062619536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S{THT 2 Km/hr BT T F 11 b 30 e T Q wraferg ugadr 81 afe 98 4 Knvhe 1 7A@ T -1 8, 98 15 e Ugd ug=ran g,
STHTR P! BT Tga- o ol fha-T gl o -1 gHit?

Options :

1. % 5Km

2.% 3Km

3. % 10 Km

4. % 8§ Km

Question Number : 104 Question Id : 54062619537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average speed of a body if it covers a particular distance at the rate of p Km/hr and another equal distance at the rate of ¢ Km/hr?
Options :

1. # 2p/(p+q) Km/hr

2. % 2pg/(p-q) Km/hr

3. ¥ 2pg/(p+q) Km/hr

4. % 2q/(p-q) Km/hr

Question Number : 104 Question Id : 54062619537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (T &1 ST TIfd 1 § TfE T8 p Knw/hr BT 7T U TIRIT G2 00 Rl ©§ 3R q Ke/hr BT 7110 ¥ U SR THM G310 BT 62
Options :

1. # 2p/(p+q) Km/hr

2. # 2pg/(p-q) Km/hr

3. ¥ 2pg/(p+q) Km/hr

4. % 29/(p-q) Km/hr

Question Number : 105 Question Id : 54062619538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A brother and his sister start from point X with speed 9 Km/hr and 6 Km/hr respectively. If the brother starts 30 minutes after his sister and
reaches a point Y, 30 minutes before his sister then what is the distance between X and Y?

Options :

1. % 54 Km
2. % 48 Km
3. % 28 Km
4. % 18 Km

Question Number : 105 Question Id : 54062619538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HTS 3R ITPB! §8 g X F HH: 9 Kn/hr 3R 6 Km/hr &1 713 T R B & | AfE HIS 370+t 989 & 30 e 91g & Rl g 3R
3O 58 ¥ 30 e Ugd U fig Y R ugaan 8, @ X 3R Y & ofd &1 gt 1 g2

Options :

1. #* 54 Km

2. % 48 Km

3. % 28Km

4.4 18 Km

Question Number : 106 Question Id : 54062619539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X can do a piece of work in 24 days. Y can do this work in 20 days. X started the work alone. After how many days should Y join him, so that
the work is finished in 12 days?

Options :

1. ¥ 2 days
2. % 5 days
3. % 7 days
4. % 10 days

Question Number : 106 Question Id : 54062619539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

X 24T O 0o SR R uBAI g1 Y T8 1 20 feAl A R AHhl1 81 X 7 3iohdl B & b | fran 1 & 918 Y B ISP 1 J&+1
AR, arfeb 12 A & Bl e gt sy

Options :

1.v2fE

2. % sfeq

3.% 7fdA

4. % 107

Question Number : 107 Question Id : 54062619540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many hectares can 14 men reap in 12 days, if 8 men can reap 90 hectares in 21 days?
Options :

1. # 108 hectares

2. % 90 hectares

3. % 84 hectares

4, % 78 hectares

Question Number : 107 Question Id : 54062619540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fe T & 14 3w fdm 3R B HeTs R UHhd 6, fe 8 e 21 TG T 90 IR B Hels R qhd 52
Options :

1. ® 108 B

2. ¥ 90 §FR

3. % 84 gaRR

4. % 78 IR

Question Number : 108 Question Id : 54062619541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

25 men can do a piece of work in 35 days working 6 hours a day, then how many men will be required to complete the work in 21 days by
working 5 hours a day?

Options :

1. # 45 men
2. % 35 men
3. ¥ 50 men
4. % 48 men

Question Number : 108 Question Id : 54062619541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 TEGH T e T 6 B HTH FRap 35 a7 H U H1d dx Ahd §, dl 21 T A A 5 6 B b 1 &1 W HA A o ey ot
ARGl BT

Options :

1. % 45 3GH

2. % 35 3TeH!

3. ¢ 50 3MTGH

4, % 48 3fTGHT

Question Number : 109 Question Id : 54062619542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 men can do a piece of work in 35 days working 6 hours a day, then how many men will be required to complete the work in 21 days by
working 5 hours a day?

Options :

1. ¥ 10 men
2. % 50 men
3. % 18 men

4. % 60 men



Question Number : 109 Question Id : 54062619542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 TON Uah G H 6 U HTH Hh 35 a1 T TP BHIH R Tdhd g, (R [oha- YUl Bl 5 °G¢ B I 21 &l § HTH TR HA1 g2
Options :

1. # 10Yg>Y

2. ¥ 500%Y

3. % 1824

4. % 602y

Question Number : 110 Question Id : 54062619543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a spherical ball is 113040 cu mm. What is the radius of the ball?
Options :

1. ®* 60 mm

2. % 40 mm

3. ¥ 30 mm

4. % 15 mm

Question Number : 110 Question Id : 54062619543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR (& BT I 113040 cu mm § | Tig BT BIeam &1 g2
Options :

1. ®* 60 mm

2. % 40 mm

3. ¥ 30 mm

4. % 15 mm

Question Number : 111 Question Id : 54062619544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the area of the lateral surface of a right circular cylinder, if the perimeter of the base is 22 cm and its height is four times of its radius?
Options :

1. # 176 Sq. cm

2. % 210 Sq. cm

3. ¥ 308 Sq. cm

4. % 296 Sq. cm

Question Number : 111 Question Id : 54062619544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST MR oa &1 1% g8 & 1 8, 1S STUR BT URHA 22 om 8 3R TSB! $HaT8 SHD! 01 BT IR T[T 82
Options :

1. # 176 Sq. cm

2. % 210 Sq. cm

3. % 308 Sq. cm

4. % 296 Sq. cm

Question Number : 112 Question Id : 54062619545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of a cone is 462 cu cm and its base area is 154 sq. cm. What is the slant height of the cone?
Options :

1. % 4102 cm

2. % V118 cm

3. % V107 cm

4. ¥ 130 cm

Question Number : 112 Question Id : 54062619545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP U BT AT 462 cu cm & 3R BT YR &F 154 sq. cm § | VP BI fades Sars 182




Options :

1. ® V102 cm
2. % 118 cm
3. % V107 cm
4. % 130 cm

Question Number : 113 Question Id : 54062619546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 1000 students in a school. The following pie-chart shows the percentage of total students got grade in the annual exam. How many
students get C grade in the exam?

Grades of 1000 students

Options :
1. % 402
2. % 264
3.9 192
4. % 142

Question Number : 113 Question Id : 54062619546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gﬁi%mﬁ 1000 BT ¢ | FafaRad a=-ard aftfer tien § 3 U 3 aTdl $d S & Wia=d e g | fhd 3El &l aien o ¢ 98
?

1000 BT BT AS

Options :
1. % 402
2. % 264
3.9 192
4. % 142

Question Number : 114 Question Id : 54062619547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks of 3 friends are given. All the marks given are out of 100. What is the difference between average marks of English and Accounts of all
the three?

Name/Subjects English Maths Accounts | Economics
Avi 81 a5 70 68
Piyush 90 65 70 76
Akash 75 78 82 70




Options :
1. % 12
2.¥°8
3. % 22
4. %17

Question Number : 114 Question Id : 54062619547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Gl & 3 feu e g1 g 3ip 100 A A feu U g1 A & 3Gt 3R prEed & 3N 3idh! # T 3R 82
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Options :
1. % 12
2.9 8
3.% 22
4. % 7

Question Number : 115 Question Id : 54062619548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the number of the ACs that were sold by the showroom from the year 2011 to 2015. How much percentage of ACs sold by
showroom Q in 2012 was less than those sold by showroom S in 2014?



Showroom/Years 2011 2012 2013 2014 2015
P 60 54 80 T2 80
Q 100 92 o8 88 105
R 120 122 100 140 142
5 180 152 105 100 o8
Options :

1. ¥ 8 percent
2. % 9 percent
3. % 10 percent

4. # 11 percent

Question Number : 115 Question Id : 54062619548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

aferset, a¥ 2011 2015 I TRSH GRT S T AC &1 ST P ST 5 1 2012 T TREH Q GRT 9 T AC HT UFARId 2014 H WREH S GRT
o U D1 a1 § fovd=1 o1 U

TREA/AY| 2011 2012 2013 2014 2015
P o0 04 80 72 a0
Q 100 o2 o8 88 105
120 122 100 140 142
5 1380 152 105 100 a8
Options :
1. ¢ 8 Ufard
2. % 9 gfa=rd
3. % 10 gfa=d
4. % 11 gfa=rd

Question Number : 116 Question Id : 54062619549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the amount of time each day that Kapil spends on various activities. What is the angle for the sector of the pie-chart
representing the time he spends on work and music respectively?

Time spend on various activities

Eatables
8%

Options :

1. % 168°, 36°
2. ¥ 126°, 36°
3. % 1350,45°
4. % 116°, 64°

Question Number : 116 Question Id : 54062619549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ;ﬁa%gwaﬁwﬁmﬁ%@ﬁﬁfmvﬁﬁmmm%l UTS-3TC o &3 & foTT 10T 1 B Sl 98 HHRT: B 3R
IR fadrar g2



fafi wfefaftrt w o o woo =

8%

Options :

1. % 168°,36°
2. ¥ 126°, 36°
3. % 1350,45°
4. % 116°, 64°

Question Number : 117 Question Id : 54062619550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the favourite sports of 500 students of a school. How much percent of the total students choose shooting as their
favourite sport?



Number of Students
3

95
90
35
80
80 -
70 4 65
6D -
S0
40 4 33
30 4
20 4
10 4
0

Hockey Badminten  Football Shooting Cricket Volleyball Swimming

Favourite sports

Options :

1. % 10 percent
2. % 8 percent
3. ¥ 7 percent
4. # 5 percent

Question Number : 117 Question Id : 54062619550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁ%g&wwﬁw%oow&ma@aﬁmélWmﬁﬁ%%ﬁq@aﬁﬂﬁa@a%wﬁ&ﬁwm
g ?
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Options :

1. % 10 gfard
2. % g gfa=rd
3. ¢ 7 gfa=rd
4. % sYfad

258 2gs 8

Question Number : 118 Question Id : 54062619551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the birth weight of 1000 new born babies. Babies who weigh less than 6 Ib are considered to have low birth weight and
babies who weigh 9 1b or more are considered to have a high birth weight. What percent of the babies had neither a low nor a high birth weight?
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Options :

1. % 40 percent
2. % 37 percent
3. # 62 percent
4. ¥ 5] percent

Question Number : 118 Question Id : 54062619551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 1000 TToTd RIS & TH & THT & Ioi- BI a=Nidl & | 5 FRIsHi &1 a9 6 1b § FH €, 38 oFH & JHY HH Joi arall A
ST § 3R o RIRIaTt &1 aoi 9 1b a1 ST IS BT ], I o7 H & THT T gor arel AT oIl & | fova wfarrd e & s9 &
AT H1 o A dl HH 3R 7 81 31 U1
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Options :

1. % 40 gfawrd
2. % 37 gfard
3. % 62 Ufa=rd
4. ¢ 51 gfa=rd

Question Number : 119 Question Id : 54062619552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a city was recorded in every five years from 1990 to 2010. What is the increase in percent of the population from 1990 to
2010?



48

40 - 35
27

Population (in thousands)
=

1990 1995 2000 2005 2010
Years

Options :

1. # 480 percent
2. % 400 percent
3. % 300 percent
4. % 280 percent

Question Number : 119 Question Id : 54062619552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1990 ¥ 2010 I &R U a4 H T WX P! SHGT &of &1 T3 Y1 1990 T 2010 b SIHHRHT &1 Ufard # fordil gfs 88 82
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Options :

1. % 480 gfa=rd
2. % 400 Ufa=rd
3. ¢ 300 Ufd=Id
4. % 280 gfa=rd

Question Number : 120 Question Id : 54062619553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows exports and imports (in rupees) of India from 2000-2001 to 2005-2006. What is the ratio of exports in year 2002-
2003 to imports in year 2004-2005?
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Options :
1. % 19:30
2.9 14:25
3. % 41:47
4. % 8:7

Question Number : 120 Question Id : 54062619553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 19:30
2.9 14:25
3. % 41:47
4. % 8:7
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General English1

Section Id : 540626932
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261125
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062619554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Every time a specie dies out, (1)/ we lose forever a part (2)/ of our natural world. (3)/ No Error (4)
Options :

1. ¥ Every time a specie dies out,

2. * we lose forever a part

3. % of our natural world.

4. * No Error

Question Number : 121 Question Id : 54062619554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Every time a specie dies out, (1)/ we lose forever a part (2)/ of our natural world. (3)/ No Error (4)
Options :



1. ¥ Every time a specie dies out,
2. # we lose forever a part

3. ® of our natural world.

4. % No Error

Question Number : 122 Question Id : 54062619555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The show is about two couples (1)/ and the adventures of (2)/ their rebellious offsprings. (3)/ No Error (4)
Options :

1. # The show is about two couples

2. % and the adventures of

3. % their rebellious offsprings.

4. % No Error

Question Number : 122 Question Id : 54062619555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The show is about two couples (1)/ and the adventures of (2)/ their rebellious offsprings. (3)/ No Error (4)
Options :

1. % The show is about two couples

2. # and the adventures of

3. % their rebellious offsprings.

4. % No Error

Question Number : 123 Question Id : 54062619556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



It met all our criterias; a stable (1)/ employment, reasonably priced homes, (2)/ a state college and a regional hospital. (3)/ No Error(4)
Options :

1. ¥ It met all our criterias; a stable

2. % employment, reasonably priced homes,

3. # astate college and a regional hospital.

4. % No Error

Question Number : 123 Question Id : 54062619556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It met all our criterias; a stable (1)/ employment, reasonably priced homes, (2)/ a state college and a regional hospital. (3)/ No Error(4)
Options :

1. % It met all our criterias; a stable

2. #¥ employment, reasonably priced homes,

3. % a state college and a regional hospital.

4. ® No Error

Question Number : 124 Question Id : 54062619557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

During this period, the championship rules were (1)/ changed frequently by the FIA with the intention (2)/ of improvement the on-track action
and cutting costs. (3) No Error (4)

Options :

1. # During this period, the championship rules were

2. % changed frequently by the FIA with the intention

3. ¥ of improvement the on-track action and cutting costs.
4. ® No Error



Question Number : 124 Question Id : 54062619557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

During this period, the championship rules were (1)/ changed frequently by the FIA with the intention (2)/ of improvement the on-track action
and cutting costs. (3) No Error (4)

Options :

1. # During this period, the championship rules were

2. # changed frequently by the FIA with the intention

3. % of improvement the on-track action and cutting costs.
4. % No Error

Question Number : 125 Question Id : 54062619558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Constitution Act, 1867, affirmed governance based (1)/ parliament precedent and divided powers (2)/ between the federal and provincial
governments. (3) No Error (4)

Options :

1. # The Constitution Act, 1867, affirmed governance based
2. % parliament precedent and divided powers

3. # between the federal and provincial governments.

4. % No Error

Question Number : 125 Question Id : 54062619558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Constitution Act, 1867, affirmed governance based (1)/ parliament precedent and divided powers (2)/ between the federal and provincial
governments. (3) No Error (4)

Options :



1. # The Constitution Act, 1867, affirmed governance based
2. ¥ parliament precedent and divided powers

3. % between the federal and provincial governments.

4. ® No Error

Question Number : 126 Question Id : 54062619559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Formal politics refers to the operation of a constitutional system of government and (publicly defining institutions or procedures).
Options :

1. # publicly defining institutions, procedures.

2. ¥ publicly defined institutions and procedures.

3. # publicly being defined as institutions and procedures.

4. ® No Correction Required

Question Number : 126 Question Id : 54062619559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Formal politics refers to the operation of a constitutional system of government and (publicly defining institutions or procedures).
Options :

1. # publicly defining institutions, procedures.

2. ¥ publicly defined institutions and procedures.

3. % publicly being defined as institutions and procedures.

4. % No Correction Required

Question Number : 127 Question Id : 54062619560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

More moderate forms of scepticism claim only that (nothing can be know with certainly), or that we can know little or nothing about the big
questions in life.

Options :

1. ¥ nothing can be known with certainty
2. % nothing could be know with certainly
3. * nothing can be knew with certainty

4. % No Correction Required

Question Number : 127 Question Id : 54062619560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

More moderate forms of scepticism claim only that (nothing can be know with certainly), or that we can know little or nothing about the big
questions in life.

Options :

1. ¥ nothing can be known with certainty
2. # nothing could be know with certainly
3. #* nothing can be knew with certainty

4. # No Correction Required

Question Number : 128 Question Id : 54062619561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The details of Buddha's life are mentioned in many Early Buddhist Texts (but is inconsistency), and his social background and life details are
difficult to prove, the precise dates uncertain.

Options :



1. # but are inconsistently
2. # but is inconsistent
3. % but are inconsistent

4. % No Correction Required

Question Number : 128 Question Id : 54062619561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The details of Buddha's life are mentioned in many Early Buddhist Texts (but is inconsistency), and his social background and life details are
difficult to prove, the precise dates uncertain.

Options :

1. # but are inconsistently
2. ® but is inconsistent

3. % but are inconsistent

4. ® No Correction Required

Question Number : 129 Question Id : 54062619562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When used by academics, an arbitrage is a transaction that (involve no negative cash flow with probability) or temporal state and a positive cash
flow in at least one state; in simple terms, it is the possibility of a risk-free profit after transaction costs.

Options :

1. #® involving no negative cash flow at any probability
2. ¥ involves no negative cash flow at any probabilistic
3. # involved no negative cash flow at any probability

4. ® No Correction Required



Question Number : 129 Question Id : 54062619562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

When used by academics, an arbitrage is a transaction that (involve no negative cash flow with probability) or temporal state and a positive cash
flow in at least one state; in simple terms, it is the possibility of a risk-free profit after transaction costs.

Options :

1. #* involving no negative cash flow at any probability
2. ¥ involves no negative cash flow at any probabilistic
3. * involved no negative cash flow at any probability

4. % No Correction Required

Question Number : 130 Question Id : 54062619563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

As a result of British colonisation, India has developed its own unique of English known as Indian English.
Options :

1. # delineation

2. % contour

3. ¥ dialect

4. % exemplification

Question Number : 130 Question Id : 54062619563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

As a result of British colonisation, India has developed its own unique of English known as Indian English.
Options :

1. % delineation



2. * contour
3.+ dialect

4. ¥ exemplification

Question Number : 131 Question Id : 54062619564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

India's only Nobel in literature was the Bengali writer Rabindranath Tagore, who wrote some of his work originally in English.
Options :

1. # commended

2. ¥ laureate

3. % celebrated

4, % displaced

Question Number : 131 Question Id : 54062619564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

India's only Nobel in literature was the Bengali writer Rabindranath Tagore, who wrote some of his work originally in English.
Options :

1. # commended

2. ¥ laureate

3. % celebrated

4. # displaced

Question Number : 132 Question Id : 54062619565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



The predecessors of Wellesley alliances with Indian Princes like the Nawab of Oudh and the Nizam of Hyderabad as now they had
started receiving subsidies for the maintenance of their troops.

Options :

1. ¥ concluded
2. # compassed
3. # subjugated

4. % convoluted

Question Number : 132 Question Id : 54062619565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The predecessors of Wellesley alliances with Indian Princes like the Nawab of Oudh and the Nizam of Hyderabad as now they had
started receiving subsidies for the maintenance of their troops.

Options :

1. % concluded
2. # compassed
3. % subjugated

4, % convoluted

Question Number : 133 Question Id : 54062619566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Maurya Empire most of the Indian subcontinent into one state, and was the largest empire ever to exist on the Indian subcontinent.
Options :

1. # harrowed

2. # tormented

3. #® ransacked

4. ¥ unified



Question Number : 133 Question Id : 54062619566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Maurya Empire most of the Indian subcontinent into one state, and was the largest empire ever to exist on the Indian subcontinent.
Options :

1. * harrowed

2. % tormented

3. * ransacked

4. ¥ unified

Question Number : 134 Question Id : 54062619567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Since the 1960s,

P: in the US and whisky for aged grain
Q: American writers have increasingly
R: used whiskey as the accepted spelling
S: for aged grain spirits made

spirits made outside the US.
Options :

1. ¥ QRSP

2. % SPQR

3. % QRPS

4. % SPRQ

Question Number : 134 Question Id : 54062619567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Since the 1960s,

P: in the US and whisky for aged grain
Q: American writers have increasingly
R: used whiskey as the accepted spelling
S: for aged grain spirits made

spirits made outside the US.
Options :

1. ¥ QRSP

2. ® SPQR

3. ¥ QRPS

4. % SPRQ

Question Number : 135 Question Id : 54062619568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Tourism brings large amounts

P: of payment for goods and services needed by tourists, accounting
Q: as of 2011 for 30 percent of the world's trade

R: of income into a local economy in the form

S: in services, and, as an invisible export

of goods and services.
Options :

1. # RQSP

2. % PQRS

3. % QRSP

4. ¥ RPQS



Question Number : 135 Question Id : 54062619568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Tourism brings large amounts

P: of payment for goods and services needed by tourists, accounting
Q: as of 2011 for 30 percent of the world's trade

R: of income into a local economy in the form

S: in services, and, as an invisible export

of goods and services.
Options :

1. * RQSP

2. % PQRS

3. % QRSP

4. ¥ RPQS

Question Number : 136 Question Id : 54062619569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

While we tend to use the terms "sociopath" and "psychopath" interchangeably, they mean different things.

P. every antisocial person does not have psychopathy

Q. psychopathy is the extreme end of the antisocial spectrum

R. while a psychopath is cold and calculating, sometimes even charming

S. when comparing sociopaths vs. psychopaths, most sociopaths are prone to impulsive behaviour and often seen as disturbed or unhinged

But virtually all psychopaths are antisocial.
Options :



1. ¥ PQSR
2. ¥ SRQP
3. % QRSP
4. % RQPS

Question Number : 136 Question Id : 54062619569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

While we tend to use the terms "sociopath" and "psychopath" interchangeably, they mean different things.

P. every antisocial person does not have psychopathy

Q. psychopathy is the extreme end of the antisocial spectrum

R. while a psychopath is cold and calculating, sometimes even charming

S. when comparing sociopaths vs. psychopaths, most sociopaths are prone to impulsive behaviour and often seen as disturbed or unhinged

But virtually all psychopaths are antisocial.
Options :

1. ¥ PQSR

2. % SRQP

3. % QRSP

4. % RQPS

Question Number : 137 Question Id : 54062619570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Chauvinism is a form of extreme patriotism and nationalism and a belief in national superiority and glory.
P. it can also be defined as "an irrational belief in the superiority or dominance of one's own group or people"

Q. male chauvinism is the belief that men are superior to women
R. it refers to the maintenance of fixed beliefs and attitudes of male superiority



S. moreover, the chauvinist's own people are seen as unique and special while the rest of the people are considered weak or inferior

It is associated with overt or covert depreciation of women.
Options :

1. % PQRS

2. % SQRP

3. ¥ SPQR

4. ¥ PSQR

Question Number : 137 Question Id : 54062619570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Chauvinism is a form of extreme patriotism and nationalism and a belief in national superiority and glory.

P. it can also be defined as "an irrational belief in the superiority or dominance of one's own group or people"

Q. male chauvinism is the belief that men are superior to women

R. it refers to the maintenance of fixed beliefs and attitudes of male superiority

S. moreover, the chauvinist's own people are seen as unique and special while the rest of the people are considered weak or inferior

It is associated with overt or covert depreciation of women.
Options :

1. # PQRS

2. % SQRP

3. % SPQR

4. ¥ PSQR

Question Number : 138 Question Id : 54062619571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

SCARCITY



Options :

1. # Haphazard
2. ¥ Dearth

3. % Commonness
4. # Caducity

Question Number : 138 Question Id : 54062619571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

SCARCITY
Options :

1. # Haphazard
2. ¥ Dearth

3. % Commonness
4. # Caducity

Question Number : 139 Question Id : 54062619572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

DELETERIOUS
Options :

1. # AIDING

2. % DEXTEROUS
3. % RETELLING
4. ¥ DAMAGING

Question Number : 139 Question Id : 54062619572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is closest in meaning (SYNONYM) to the word given below.

DELETERIOUS
Options :

1. % AIDING

2. % DEXTEROUS
3. % RETELLING
4. ¥ DAMAGING

Question Number : 140 Question Id : 54062619573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ANACHRONISTIC
Options :

1. * OBSOLETE

2. % ANTIQUATED

3. ¥ CONTEMPORARY
4. % ASTOUNDING

Question Number : 140 Question Id : 54062619573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ANACHRONISTIC
Options :

1. ¥ OBSOLETE

2. % ANTIQUATED

3. ¥ CONTEMPORARY
4. % ASTOUNDING
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Question Number : 141 Question Id : 54062619574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the word that is the opposite meaning (ANTONYM) to the word given below.

OMINOUS
Options :



1. ®* APOCALYPTIC
2. # AUGURAL

3. ¥ PORTENTOUS
4. ¥ PROPITIOUS

Question Number : 141 Question Id : 54062619574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

OMINOUS

Options :

1. ¥ APOCALYPTIC
2. % AUGURAL

3. % PORTENTOUS
4. ¥ PROPITIOUS

Question Number : 142 Question Id : 54062619575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

AMORPHOUS
Options :

1. % DISTINCTIVE
2. % LIVELY

3. ¥ NEBULOUS
4. ¥ LONELY

Question Number : 142 Question Id : 54062619575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



AMORPHOUS
Options :

1. # DISTINCTIVE
2. # LIVELY

3. ¥ NEBULOUS
4. ¥ LONELY

Question Number : 143 Question Id : 54062619576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Shampain

2. % Champagne

3. ¥ Champain

4. ¥ Champaine

Question Number : 143 Question Id : 54062619576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Shampain

2. % Champagne

3. % Champain

4. % Champaine

Question Number : 144 Question Id : 54062619577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. # CAFEINE
2. % CAFFIENE
3. % CAFFEINE
4. ¥ CAFIENE

Question Number : 144 Question Id : 54062619577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CAFEINE

2. % CAFFIENE

3. ¥ CAFFEINE

4. % CAFIENE

Question Number : 145 Question Id : 54062619578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ACOMMODATE

2. ¥ ACCOMMODATE

3. % ACCOMODATE

4. % ACOMODATE

Question Number : 145 Question Id : 54062619578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ®* ACOMMODATE



2. ¥ ACCOMMODATE
3. ¥ ACCOMODATE
4. % ACOMODATE

Question Number : 146 Question Id : 54062619579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ KNIKKNACK

2. # KNIKNACK

3. # KNICKNACK

4. ¥ KNICKKNACK

Question Number : 146 Question Id : 54062619579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ KNIKKNACK

2. % KNIKNACK

3. % KNICKNACK

4. ¥ KNICKKNACK

Question Number : 147 Question Id : 54062619580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ IMPERTURPABLE

2. % IMPERTERBABLE

3. ¥ IMPERTURBABLE



4. ¥ IMPERTERPABLE

Question Number : 147 Question Id : 54062619580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ IMPERTURPABLE

2. % IMPERTERBABLE

3. ¥ IMPERTURBABLE

4. ¥ IMPERTERPABLE

Question Number : 148 Question Id : 54062619581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"As busy as a bee"

Options :

1. ¥ Running around doing things of less importance.
2. % Focusing only on task you want to do.

3. # Making work the most important part of life.

4. ¥ Very busy.

Question Number : 148 Question Id : 54062619581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"As busy as a bee"
Options :
1. # Running around doing things of less importance.

2. # Focusing only on task you want to do.



3. # Making work the most important part of life.
4. ¥ Very busy.

Question Number : 149 Question Id : 54062619582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"A leopard cannot change its spots"

Options :

1. # You cannot change your destiny.

2. % Things cannot change their innate nature.
3. # Nothing is perfect.

4. % Cat family is known for keeping themselves clean.

Question Number : 149 Question Id : 54062619582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"A leopard cannot change its spots"

Options :

1. ® You cannot change your destiny.

2. % Things cannot change their innate nature.
3. ® Nothing is perfect.

4. ® Cat family is known for keeping themselves clean.

Question Number : 150 Question Id : 54062619583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

“Between the devil and the deep blue sea”



Options :

1. ¥ In difficulty, faced with two dangerous alternatives.

2. % Invariably taking the difficult path every time.

3. # Choosing between lying or facing the consequences of speaking the truth.

4. ® Not having enough space to walk.

Question Number : 150 Question Id : 54062619583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

“Between the devil and the deep blue sea”

Options :

1. ¥ In difficulty, faced with two dangerous alternatives.

2. # Invariably taking the difficult path every time.

3. # Choosing between lying or facing the consequences of speaking the truth.

4. ® Not having enough space to walk.

Question Number : 151 Question Id : 54062619584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

“A watched pot never boils”

Options :

1. # Being angry with something but not letting it out

2. % A child cannot be spoilt under proper guidance.

3. ¥ Time seems to go slower when you are anxiously waiting for something to happen.

4. % Doing something slowly and steadily while taking proper safety measures.

Question Number : 151 Question Id : 54062619584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given phrase.

“A watched pot never boils”

Options :

1. ¥ Being angry with something but not letting it out

2. % A child cannot be spoilt under proper guidance.

3. ¥ Time seems to go slower when you are anxiously waiting for something to happen.

4. ® Doing something slowly and steadily while taking proper safety measures.

Question Number : 152 Question Id : 54062619585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

To goad or urge someone to do something.
Options :

1. # Dissuade

2. ¥ Instigate

3. # Inane

4. % Repress

Question Number : 152 Question Id : 54062619585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

To goad or urge someone to do something.
Options :

1. ® Dissuade

2. ¥ Instigate

3. ® Inane

4. ® Repress



Question Number : 153 Question Id : 54062619586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Any foodstuff made by combining different ingredient
Options :

1. % Commotion

2. % Dour

3. ¥ Concoction

4. % Gourmand

Question Number : 153 Question Id : 54062619586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Any foodstuff made by combining different ingredient
Options :

1. % Commotion

2. % Dour

3. ¢ Concoction

4. % Gourmand

Question Number : 154 Question Id : 54062619587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

To give a sketchy outline of
Options :
1. ¥ Adumbrate

2. % Extricate



3. # Exacerbate

4. # Capitulate

Question Number : 154 Question Id : 54062619587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

To give a sketchy outline of
Options :

1. ¥ Adumbrate

2. % Extricate

3. % Exacerbate

4. % Capitulate

Question Number : 155 Question Id : 54062619588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Pertaining to a code of beliefs accepted as authoritative
Options :

1. *® Prophetic

2. % Amenable

3. % Dogmatic

4. % Ventriloquist

Question Number : 155 Question Id : 54062619588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Pertaining to a code of beliefs accepted as authoritative



Options :

1. # Prophetic

2. % Amenable
3. % Dogmatic

4. # Ventriloquist

Sub-Section Number : 2
Sub-Section Id : 5406261127
Question Shuffling Allowed : Yes

Question Id : 54062619589 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to a divinity in order to establish, maintain, or restore a right relationship of a human being
to the sacred order. It is possible to analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of the offering, the
time and place of the rite, the method of sacrificing, the recipient of the sacrifice, and the motive or intention of the rite. In a sense, what is
always offered in sacrifice is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine and imperishable
nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—whether by burning, slaughter, or whatever means—is not
in itself the sacrifice. The killing of an animal is the means by which its consecrated life is “liberated” and thus made available to the deity, and
the destruction of a food offering in an altar’s fire is the means by which the deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or sacramental meal. Sacrifice as a gift may refer either to a
gift that should be followed by a return gift or to a gift that is offered in homage to a god without expectation of a return. Sacrifice as a
sacramental communal meal may involve the idea of a ritual meal at which either some primordial event such as creation is repeated or the
sanctification of the world is symbolically renewed.

Sub questions

Question Number : 156 Question Id : 54062619590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is sacrifice meant to establish?

Options :

1. # Right relationship of the human beings with the fellow beings.

2. # Right relationship of human beings with other species on the planet.



3. ¥ Right relationship of a human being to the sacred order.
4. # Right relationship of human beings with beings on other heavenly bodies.

Question Number : 157 Question Id : 54062619591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an element of the rite of sacrifice?
Options :

1. ¥ The amount of effort put for sacrifice.

2. # The material of the offering in the sacrifice.

3. # The method of making the sacrifice.

4. ® The recipient of the sacrifice.

Question Number : 158 Question Id : 54062619592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of primordial as used in the passage?
Options :

1. ¥ An act of talking to the god.

2. ¥ Existing at or from the beginning of time.

3. % The event of rebirth as talked about in mythologies.
4. ® The event of bringing back peace to the world.

Question Number : 159 Question Id : 54062619593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the 'destruction of the offering' symbolic of?

Options :

1. # By destroying the offering, the offering is gone from the world.

2. ¥ By destroying the offering, the offering is made available to the deity.

3. % By destroying the offering, the sacrificer destroys what was made by the god.

4. # By destroying the offering, the sacrificer wants to show his strength to the deity.



Question Number : 160 Question Id : 54062619594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the passage which of the following is incorrect with respect to a sacrifice that is made?

Options :

1. % It is made as some type of either sacrificial gift or sacramental meal or both.

2. ¥ It is made to take something from god at present and as a promise to return a greater sacrifice in the future.
3. # It is made as celebration of life, a recognition of its divine and imperishable nature.

4. # It is made as a gift that is offered in homage to a god without expectation of a return.

Question Id : 54062619589 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Sacrifice, a religious rite in which an object is offered to a divinity in order to establish, maintain, or restore a right relationship of a human being
to the sacred order. It is possible to analyse the rite of sacrifice in terms of six different elements: the sacrificer, the material of the offering, the
time and place of the rite, the method of sacrificing, the recipient of the sacrifice, and the motive or intention of the rite. In a sense, what is
always offered in sacrifice is, in one form or another, life itself. Sacrifice is a celebration of life, a recognition of its divine and imperishable
nature.

Often the act of sacrifice involves the destruction of the offering, but this destruction—whether by burning, slaughter, or whatever means—is not
in itself the sacrifice. The killing of an animal is the means by which its consecrated life is “liberated” and thus made available to the deity, and
the destruction of a food offering in an altar’s fire is the means by which the deity receives the offering.

The basic forms of sacrifice, however, seem to be some type of either sacrificial gift or sacramental meal. Sacrifice as a gift may refer either to a
gift that should be followed by a return gift or to a gift that is offered in homage to a god without expectation of a return. Sacrifice as a
sacramental communal meal may involve the idea of a ritual meal at which either some primordial event such as creation is repeated or the
sanctification of the world is symbolically renewed.

Sub questions

Question Number : 156 Question Id : 54062619590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is sacrifice meant to establish?

Options :

1. ¥ Right relationship of the human beings with the fellow beings.



2. # Right relationship of human beings with other species on the planet.
3. ¥ Right relationship of a human being to the sacred order.
4. # Right relationship of human beings with beings on other heavenly bodies.

Question Number : 157 Question Id : 54062619591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an element of the rite of sacrifice?
Options :

1. ¥ The amount of effort put for sacrifice.

2. # The material of the offering in the sacrifice.

3. # The method of making the sacrifice.

4. ® The recipient of the sacrifice.

Question Number : 158 Question Id : 54062619592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of primordial as used in the passage?
Options :

1. ¥ An act of talking to the god.

2. ¥ Existing at or from the beginning of time.

3. % The event of rebirth as talked about in mythologies.
4. ® The event of bringing back peace to the world.

Question Number : 159 Question Id : 54062619593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the 'destruction of the offering' symbolic of?

Options :

1. # By destroying the offering, the offering is gone from the world.

2. ¥ By destroying the offering, the offering is made available to the deity.

3. % By destroying the offering, the sacrificer destroys what was made by the god.

4. # By destroying the offering, the sacrificer wants to show his strength to the deity.



Question Number : 160 Question Id : 54062619594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the passage which of the following is incorrect with respect to a sacrifice that is made?

Options :

1. * It is made as some type of either sacrificial gift or sacramental meal or both.

2. ¥ It is made to take something from god at present and as a promise to return a greater sacrifice in the future.
3. # It is made as celebration of life, a recognition of its divine and imperishable nature.

4. # It is made as a gift that is offered in homage to a god without expectation of a return.
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Question Number : 161 Question Id : 54062619595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufefad uy &, IR Al 7 T, 39 faded &1 997 B &Y fbar & W a1 I8! fased 8l

g9 9] I g9 |
Options :

1. % gdeprere foba
2. ¢ IR o
3. % YT fopan
4. % Ggad febar

Question Number : 161 Question Id : 54062619595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed gy o, IR fawedl 7 9, 39 fdwed &1 987 & SN fohar & W are Ig! [ddbed 8l |
e Sl &I gl

Options :

1. # gdap1iere fopd

2.« IR o

3. % AHYTd fobar

4. % Tgod o

Question Number : 162 Question Id : 54062619596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad g A, IR fAwddl 1 T, I fawmed &1 T & S 350 & N T To! [Adbed g
a8 T o HHTE & R fea|

Options :

1. % foparfarivur sfeqg
2. % GHEYEYD 3T
3. ¢ fauqaifediu® sy
4. % IEYSIYD T

Question Number : 162 Question Id : 54062619596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy A, IR fowedl 7 9, 39 faweu &1 97 &3 St 39T & He 1 Tat fabeu gl
dre! ge ol HHTd 81 B &

Options :

1. % foparfaRivor s

2. % JHTINIYD Y
3. « foafediys 3y
4. % GEYIIYPR g

Question Number : 163 Question Id : 54062619597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 9, 39 fahcu &1 9g7 &% S Higd™e I3 &1 Ua! faeey 78l 81
Options :

1. % fqefar
2. % gEarl
3. ¢ R

4. % 3MYfad




Question Number : 163 Question Id : 54062619597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, TR faweul # 9, 39 fAdhed &1 997 B Sl HIgarad 91 &1 9g! f[ddbed 161 o |
Options :

1. % fefan

2. % gECrl

3.9 R

4. % 3THfeR]

Question Number : 164 Question Id : 54062619598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, OR fowed! & T, 39 fdewed &1 999 &1 ol HIFH | [T T et & AR JTH & U &1 Tl fddbed 8|
o= 7 ($9) TR T gl

Options :

1. % fASTaras

2. % JH dlddh
3. % 3OH 03N

4. ¢ YT D

Question Number : 164 Question Id : 54062619598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied vy H, IR fowdl 7 9, 39 fdded &1 99 & ol DIFH H QT U Xeg & SUR Fa-H & U &1 ! [dbed 8l
o # (@) TR gl

Options :

1. % fASidree
2. % JEY diddh
3. % 3dHYPY




4. ¢ 3T IE®

Question Number : 165 Question Id : 54062619599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad Uy ¥, IR faswedl B 9, 39 fdded &1 9= B ol HI¥d T AT U e o 3HR IRVl & Ue ara fadhed Bl
@) T ® 3 ot T S @I B

Options :

1. ¢ IS

2. % 3T uRHT0T drad
3. % Af¥q J=aE®

4. % TUAESD

Question Number : 165 Question Id : 54062619599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O T, 39 faded &1 99 &< S DIgd T fU 7T Wsq & UR fa=iw0r o Ug arell f[ddhed gl
@) T 5o ot 78T eI B

Options :

1. ¢ TIdIHS

2. % 3ffAfYd ufa aa®
3. ® fAfgq SmaEs

4. % TUATEAS

Question Number : 166 Question Id : 54062619600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufefead uy o, IR fapeal 7 T, 39 Ay &1 T899 B o) ST Ueg BT el [abed gl

Options :
1. % 3l




2. ¥ SU[DH
3. % forai
4. % dolgl

Question Number : 166 Question Id : 54062619600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR faded! 7 9, 39 [dded &1 997 &< Sl <16l Weg &1 Tl fddbed gl
Options :

1. ® g

2. ¥ JUIH

3. % ot

4. % qglg}

Question Number : 167 Question Id : 54062619601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl B Q, 39 fadwen &1 Tg9 & S 3T U 2reg & forw Ot ey 90 & faurg &1 fadweu gl
CERGRIS]

Options :

1. % TP orY

2. # TP GRI A1 TG DI T8
3. ¥ BTPR & [e1U BfIDHR a1
4. % BIH I YeHI

Question Number : 167 Question Id : 54062619601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofifed uy 8 IR el § 9, 39 e & 98- &3 S 3T 70 Teg & T I8t deqey 9919 & faug &1 fadea gl
EERSGL




Options :

1. % TP orY

2. # TP GRI A1 TG DI T8
3. ¥ BTGR & [e1U BfIDHR a1
4. % BIH I YeHI

Question Number : 168 Question Id : 54062619602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad v A, IR fdwedl § 9, 39 fdsed &1 994 &2 ol QU 71T g &1 d9q =9 8l |
RITR

Options :

1. % ITd

2. ¥ YR

3. % Th

4. % BR

Question Number : 168 Question Id : 54062619602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead vy o, TR fawenl § 9, 39 fawey &1 7= &3 S fou U ¥sg &1 IH = 8l
R

Options :

1. % oI

2. ¥ YR

3. % Qo

4. % BR

Question Number : 169 Question Id : 54062619603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 9 &1 987 & Ot 2T W Yo & YT Vet b1 el f[dbed Tel g

ud
Options :
1. ¥ Ucd
2. % fAffy
3. % &ur
4. % oligl

Question Number : 169 Question Id : 54062619603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR oweal 7 9, 39 fawcd o1 97 &% Ot feU 7T Yo & YTigaTel Weg b1 el f[ddhed T8 5|

ud
Options :
1. ¥ UJcd
2. % Ay
3. % &ur
4, % oligl

Question Number : 170 Question Id : 54062619604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed Uy 8, IR faeedl § 9, 39w ey &1 999 &3 6l faed Teg BT Jad 3] [dhed B
IR

Options :
1. % RR
2. ¢ ARy
3. % T(fEr



4. % TG

Question Number : 170 Question Id : 54062619604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fahcd &1 987 & o fAdiH Wsg &1 e 331 faheu g |
TRy

Options :
1. % RRR
2. ¢ MRy
3. % TfaHE
4, % 70

Question Number : 171 Question Id : 54062619605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy |, IR [ddedl 7 ¥, 39 I8! f[dmed &1 99+ B3 Sl d1aiR & ol U Weg, &l [ddhed Bl |
S AT A

Options :

1. % R
2. % YR
3. ¥ 3R
4. % 31

Question Number : 171 Question Id : 54062619605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al A 9, 39 I8! f[dwed &1 I B3 Sl ITaiRN & ol U e, &1 f[adhed |
kN i




Options :

1. % R
2. % IR
3. ¥ 3R
4. % 3o

Question Number : 172 Question Id : 54062619606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR fowmeal 7 9, 39 I8! faded &1 T &3 SN foTU 77U Wreg & Tgt 31 &1 IfId fadeeu g1
gfumg

Options :
1. ® &H
2. % Yitd
3. % JHIU
4. ¢

Question Number : 172 Question Id : 54062619606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR fAwddl § B, 39 I8! fadh e &1 99 B3 o faT 7T Rieg & et 31 o1 IfId faweu gl
gfeome

Options :
1. % aH
2. % Yrd
3. % THIIT
4. ¢ hdf

Question Number : 173 Question Id : 54062619607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, IR fawedl § 9, 39 el [admed &1 997 & S Rad RIF & o I0gad e &1 el [dhed g

qg HdHdl g3l o uga T
Options :

1. ® o

2. % oA

3. ¢ fasH

4. % Tgr

Question Number : 173 Question Id : 54062619607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & IR fawed # 9, 39 el fawed &1 997 & S Rad RIF & o Iuged Weg &1 Ie! fdwed 3|

qg HCHdl g3l o ugd T
Options :

1. % o

2. % o

3. ¢ fdoH

4. % gl

Question Number : 174 Question Id : 54062619608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, IR fawedl § 9, 39 fawed &1 70 &L Sl Y Ueg 1 Fal fAdhe 7
Options :

1. # JIaRIH®T

2. ¢ faaRforeT

3. % faaRufie

4. % fqazfors




Question Number : 174 Question Id : 54062619608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl o 9, 39 fdaed &1 997 &< off Y e T ol [abed 5|
Options :

R CICINIEET

2. ¢ faaRfore

3. % fqaRufie

4. % fqarfore

Question Number : 175 Question Id : 54062619609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &3 S Y Ve 1 Ta! fAwea 71
Options :

1. % Ydid

2.9 @

3. % Yold

4, % @G{d

Question Number : 175 Question Id : 54062619609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawedl § 9, 39 fawed &1 70 &L Sl Y Ve &1 Ta! fAbe 7
Options :

1. % Yaxd

2.9 Wd

3. % YoXd

4, % @Gyd



Question Number : 176 Question Id : 54062619610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiafed uy §, IR el 7 9, 39 fowea &1 997 &% &Y feu 7T Weg & JHMIT Weg &1 faheu 781 B

RIS
Options :

1. % DI
2. % URyH
3. % Ygd
4, TTHq

Question Number : 176 Question Id : 54062619610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 9w ca &1 987 &% oY 2T 7T e & JAMIT Weg &1 fahey 781 B

RIS
Options :

1. % DI
2. % URyYH
3. % Wd
4, ¢ TTHA

Question Number : 177 Question Id : 54062619611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowedl 7 9, 39 8! f[dded &1 99 & off [qU U Xea-H & 3 &1 gl [ddhed gl |
&It 3R &g

Options :

1. # fomm iR e




2. % 3gdl 3R BT
3. AT 3R B!
4. % SAITQT 3R UG

Question Number : 177 Question Id : 54062619611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 98! fawed &1 7= &3 off 3T T Weg-g & 31 &1 et fadwed |
aRft SR a8

Options :

1. % f=m iR T_ie

2. % gl 3R BT
3. ¢ ATl 3R B

4. % AT 3R YUY

Question Number : 178 Question Id : 54062619612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fPrafifead Uy 5, TR fasedl & 9, 39 ey &1 999 &1 ol Jed WifelT =9 arel fddbed g

Options :
1. ¢ FdH
2. % 3RIY
3. % 3Usl™
4. % GRI

Question Number : 178 Question Id : 54062619612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 9897 &Y oY 9ed TWifel U are faeey g |




Options :
1. ¢ gdH
2. % 3RU
3. % 3Usl
4. % QR

Question Number : 179 Question Id : 54062619613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawel § 9, 39 fadey &1 T B S Yod dgad Usd &1 ol 331 fawey §1
Options :

1. % g3l

2. ¢ &

3. % Dl

4. % ATMUBT

Question Number : 179 Question Id : 54062619613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawedl & §, 39 fadwen &1 Tg9 & S Ud dgae- Wea &1 Ta 331 fddhey 7
Options :

1. % g3}

2. ¥ &

3. % Dl

4. % AMUBT

Question Number : 180 Question Id : 54062619614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁt{%ﬁ,ﬁﬁﬁﬂﬁ@r,wﬁdwmdw B S HIFD | [T T Ueg & AR AT Y3 dradh Ga-1H & T ST fddbed
|




Options :

1. ¥ 1 (TRR) TN $6 SUU &7

2. % (39) Ygl g1 81 781 =R |
3. % (Tg) BTH B! Hid g

4. % (@ oo fol & R g S ETE|

Question Number : 180 Question Id : 54062619614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

glgﬁr@au%ﬁ,mﬁwq‘fﬁ@r,wfamwwwﬂ ® ol HIFH U QT T e & TR HHH Yo Iadh Ja-TH BT Ja 33T fadhed
|

Options :

1. ¢ 1 (JR) U $B 3UU 82

2. % (39) TgI AT 81 To! MY |
3. ® (Tg) BTH B! HidH g

4. % (¥) 3 e & R g M@ E|

General Hindi2
Group Number : 10
Group Id : 540626753
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Hindi2



Section Id : 540626935

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261129
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062619615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoRad Uy |, IR fAdwedl 7 9, 39 fddhed &1 999 &3 o) feT TN 9190 & &1d &1 ol fdwed gl |
§ W A B

Options :

1. ¢ A qaaeTd
2. % 3 YdbId

3. % Q= HiowdTd
4, % GO YdbTd

Question Number : 181 Question Id : 54062619615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
= TR 3MTd i

Options :
1. ¢ T gAATBTA
2. % 3TF YD




3. % YHY HidwHhTd
4, % GO YdbTd

Question Number : 182 Question Id : 54062619616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawey &1 999 &2 Sl foU T8 arag & fore gy & v &1 9ad o1 fased ]

SRT HR 1Y §T9IR Fferg |
Options :

1. % Topard

2. % Jagrd

3. % FyraAry

4. ¢ foery

Question Number : 182 Question Id : 54062619616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off fU T8 a1 & o 3 & N &1 qad 33T faded g |

SRT TR 1Y §T9IR aferg|
Options :

1. % Jopard

2. % Fagrd

3. % Fyra-rd

4. ¢ oy

Question Number : 183 Question Id : 54062619617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9hed &1 T B Sl feU 77T 919 & ol Uel & U o Jad 331 f[aheu 5|




Ol BTHT 4R IHh1 3!
Options :

1. ¢ qofdrende

2. % MIdriae

3. % gafaede

4. % JRYYdH

Question Number : 183 Question Id : 54062619617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9h ey &1 79 B &l feU 77T 9199 & ol Uel & U o Jad 331 f[aheu 5|
T BTHT 4R IHT 8!

Options :

1. ¢ QUidridd
2. % Fgdreds
3. % Ffaedd
4. % RYIdH

Question Number : 184 Question Id : 54062619618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawmed &1 70 &L Sl Y 91 T Ja 3737 fadhed g |
Options :

1. ® TTQ § e & 9fSar us M|

2. ¢ Wi A anft &1 Ifsar g |

3. % IR A e & ofsar iR T8

4. % WY DI A &I 9fSTT TS T3 |

Question Number : 184 Question Id : 54062619618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 909 o Il Y a1 BT oY 33T [ddved 5|
Options :

1. % 70§ A &1 9fS$ai g TS|

2. ¢ I A A & IfSai us TR

3. % W o o) afsar TR TS|

4. % WY DI A B! AfSTT IS TS|

Question Number : 185 Question Id : 54062619619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR fawddl | 9, 39 f[ddhcd &1 a9 B3 S Jol a1dd He &I [dhed gl |

HTH JHIT BRI 3R TR S|
Options :

1. ¢ Tgad aIrd

2. % Ay 9y

3. % Yogarad didd

4, & I dI

Question Number : 185 Question Id : 54062619619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR [adedl 7 9, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl

HTH JHTT BRI 3R TR 137
Options :

1. ¢ Igad a1

2. % iy arey

3. % Jcgadd A

4. % IR drT




Question Number : 186 Question Id : 54062619620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRed Uy |, IR [adwedl 7 ¥, 39 fdwed &1 999 &3 Il el d1ad He &l f[ddhed |
H9 T ueht 31 Sl uraa ol

Options :

1. % [qYTarde drag
2. % IR IR

3. ¢ Oy arey

4. % IgId a1

Question Number : 186 Question Id : 54062619620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR fawddl | 9, 39 f[ddhcd &1 a9 B3 S Jol a1dd He &I [dhed gl |
T U veft <ar S urd |

Options :

1. % faymarae® a1
2. % IR I

3. ¢ [y I/

4. % ggad I

Question Number : 187 Question Id : 54062619621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99+ &< SN [aR1 foig god a1 &1 Aot fdded gl |
Options :

1. % b 9 Dol UY, oI aRa ol, URYH &1 % dlgU|

2.« GiFd A B, WY, G RGH 81, TRYH &1 B Mgy




3. % HD A gl "UY, G IRaM ol-URHT BT Hhd Aifgl "
4. % D A Dl "IY G GG ol URYH &1 B Aifgyl”

Question Number : 187 Question Id : 54062619621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR faswedl # 4, 39 fadbey &1 9 &< it fa g god a1t o1 gl fdabed o |
Options :

1. % G = HgI UY, oI aRa g1, URYH D1 o A1 |

2. ¢ D A BT, "WY, G qRa o, URYH &1 Bd AT

3. % G A &gl "UY, G RGH To1-URHH &1 Tl Mgl

4. % D 9 Dgl, "IY G GRGM T8l URYH &1 Bl AMigyl”

Question Number : 188 Question Id : 54062619622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 4, 39 faddbed &1 7 &3 oif fax g god o) o1 gl [dhed o1 |
Options :

1. % I Hel I S, TH AT A g1 F1 U sl 82 S8+ wiare fa, o= & ferg)

2. % I Fgl, "I i, IH ANl - T I Tl 82" 361+ oA fedr 4 & fag

3. ¢ I FgT, "I off, T AT 2 0 Y Ul 82" w61+ SiaTe fer, e & fergy

4. % I pgl- I off, 7 AT = T N Ul 82" I514 wiaTe fear- ¢ & g

Question Number : 188 Question Id : 54062619622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed o1 o+ &< SN faR1 forg god a1 &1 Aot faded gl |
Options :

1. % IT- Hgl I off, TH ATl A G FI U Sl 82 S8+ oiard T, "¢ & ferg)

2. % IT FHal, "1 off, TH AR A g 1 gh el 82" 381+ oidTd fear o7 & oy

3. ¢ 39 Hal, "I off, TH AN A 2 1 U s 82" 3814 oiaTd faar, "o & ferg)




4. % I Dl I o, TH ANl A G I g el 82" 351+ oidTd fedl- ¢ & forg

Question Number : 189 Question Id : 54062619623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O, IR fawedl O 1, 39 faded &1 o9+ &< SNt R forg god a1 &1 Hat fdded gl |
Options :

1. % '3l g, AIGD 71 g @ - Far

2. % 31 g AP TS & TG = ]

3. % 3% 5, AP TS © G A |

4. "3 &, AP T & |" G = I |

Question Number : 189 Question Id : 54062619623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad us o, IR fasedl # 9, 39 fddhed &1 9= B Sl fav g god a1 &1 Hal fddbed gl
Options :

1. # 3l g, U 71 3" AW 3 §ar

2. % 3 g AP T8 & TG 7 FaM|

3. % 31% g, A% s § 2T = FrT|

4.« 3% g, TP s ¢ 1" TG J T

Question Number : 190 Question Id : 54062619624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa Uy & IR fawe § 9, 39 fawey &1 7 &% off fau 7T Yerer o1 98t o aran fawe 8|

[EEECNEETE])
Options :

1. % ST HAT

2. % GRHAMAT




3. ¢ §RT 8T BT
4, % IS AT

Question Number : 190 Question Id : 54062619624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforied oy & aR fawedl # 9, 39 fadwed &1 7a &3 off fU T gTear &1 Tet o aran fawey g

[EEECNEGRG]
Options :

1. % IOl HRAT
2. % GRHMEAT

3. ¥ RIBIA DAl
4. % IS BT

Question Number : 191 Question Id : 54062619625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &< off U T GgTar &1 9e! o aran fawed g
IS P Ty

Options :

1. % 9 3l

2.« U AR g1 HTH HA aTal
3. % §HR g ardl

4. % Uh U&I P

Question Number : 191 Question Id : 54062619625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforfed oy & o fawed # ¥, 39 fadmed &1 7a &3 off fU 7T gTer &1 Tet o aran fawey g |




TS &l e

Options :

1. % 9 3l

2. U AR g1 HTH B aral
3. % 9HR g ardl

4. % T U T

Question Number : 192 Question Id : 54062619626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa Uy & IR fawe § 9, 39 fawey &1 7 o3 off fau 7T Yerer o1 98t o aran fawe 8
STOIR 5 BT

Options :

1. ¢ DHIH-4YT IS BT

2. % WO B Ihe H SIa-]
3. % TR AT

4. % IHYHE g

Question Number : 192 Question Id : 54062619626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &< off U T gTar &1 Te o aran fawed g
TSR 75 BT

Options :

1. ¢ HTH-YYT A gl

2. % IGY Pl Ahe H ST
3. % T BT

4. % JHYHE g




Question Number : 193 Question Id : 54062619627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwea &1 987 &8 St < 715 Aipifad &1 Tat 31 arett faweu g1
TS I A1d Tal gcid

Options :

1. % g3 Ia O g

2. ¢ YIEeTel STa] f& 81 I gehdl!
3. % G o feidr & ga

4. % JHY R hHAl

Question Number : 193 Question Id : 54062619627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeedl & T, 39 ey &1 Taa &1 ot <1 71 dipifad &1 Tel 3 arar ey g
PHTTS BI A1d ol Iard

Options :

1. % g3 Ia d g

2. ¢ YRaeTol warel & a1 o Jabdll
3. % Q@RI Bt far d gan

4. ® JHY R DAl

Question Number : 194 Question Id : 54062619628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fawed &1 97 &8 St < 715 Aipifad &1 Tat 31 arett fawbeu g1
HIgd T R 718 81 gl

Options :
1. ® mélql




2. % $B P W PS U
3. % 3aRgD feidref A gr @
4. TS P TIY-Y RS 4 @ B

Question Number : 194 Question Id : 54062619628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR fowedl & T, 39 ey &1 Ta &1 oY <1 71 diopifad &1 Tet 3 arar ey g
HIgd T R 719 81 gl

Options :

1. % 3¢ g

2. % $B Do R HS U

3. % AT fidref d gr @

4, 3BT b Y- 18 Ui ElT §

Question Number : 195 Question Id : 54062619629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR Reedl 7 9, 39 A ca &1 987 B3 oY < 718 Albifad &1 Tat 31 arelt fabeu g1
fraft 1T TR oI SIs At

Options :

1. % WRIHCE A BT SgH 8l o]

2. % $o Mt gaa AT g

3. « ool &1 81 IR it 3= &1 arHTfad 8T
4. % 3O IS Bl TSI HIAT

Question Number : 195 Question Id : 54062619629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeeal o T, 39 ey &1 Ta &1 ot <1 71 dipifad &1 Tet 31 arar ey g




faft &1 TR 51 ®Is

Options :

1. % {RIHC HAfad BT SgHH 8l S

2. % @ W aad AT gl

3. ¢ fobdl i g1 WR ot 3= &1 arvif-ad g1
4. % 3O IS BT TITS HAT

Sub-Section Number : 2
Sub-Section Id : 5406261130
Question Shuffling Allowed : Yes

Question Id : 54062619630 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TR &) &9 Q Ue 3R feu My ushi & IR S|

PR o FHIS H IGHR YHTS BT THIY J FReT01 foba) T H el STRITS R, HeHTa, QriaTiiehd 3M1fg o1 31+ Y JHIU dehs U1 g&
faRYy fopa fob fobeit 1 fowrd 781 g8 Sl I SIhTcy bl bl PIC Heb| PR bl Afckicd 31 Sl UT fob I FIHA feeh Yeb i fgwid
forei o a1 Y| 9 TR 351+ THS a1 Y1 D1 GRIS4T B MBIA-HBTABR Jadb YTHA G, 3dl ATH IGDHR TR Pl STHaTd! &b ADhait
e B! GaD| fe@AT 3R EH-aferdl B SR 33+ BT UG 4y, 37U Afadd Pl JURDBR b A T HEH TG URdd B Rigidl
&1 et fora| &, JaT, stfer aut FAeor ant &1 UuR foa edeTus g giiae &1 faRly foran sroit anfieat, Jaf~at aur 2rsal &

SIS ! HTHT H IGHR b TTH- T AR JHHTT Wil 39 UHR HER 3 JH-ggdTet efPDI01 SR 3R HU--63! Thdl )R §d
3 3 HeM TSP, YA YURS a4 7 Hid 3| 314 R ARTH & i Y09 &1 4RI YdTied &R aiHl &I & Ldadl e &)

Sub questions

Question Number : 196 Question Id : 54062619631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEAR B AT DI DI blc b1 &l fbdt 7 o=l 751 Ui
Options :

1. ¥ 51+ AT Tfater &7 Tevrs o fAfkeror fowar o1
2. % FHAR AU T F TEH fagH A

3. % IgiH Rl o1 TR Sreaa fopam ot



4. % 3 gre-faare § 98 p2a I

Question Number : 197 Question Id : 54062619632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YRS & =0 H HER DI 51 TG UT2

Options :

1. % I SH-afrd! &t gag &1

2. ¢ 38i4 IS HeHTd d UGGl &l egdl I faviy faean
3. % I Yy & Ul TR HTIH Bt

4. % I AR P gl R & ez

Question Number : 198 Question Id : 54062619633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAR A Ty geR F7or ant &1 gaR faram
Options :

1. % YTl Id-URERT &1 foRy

2. % fad Yol bl TS+ Hab

3. % QTS gRT

4. ¥ HHBIS R Gflgen & a1 gRT

Question Number : 199 Question Id : 54062619634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTH ¥ D - 1 faRly &7 qafoard 51 82
Options :

1. % fagufa

2. % J@RIY

3. ¢ gl

4. % Jgy



Question Number : 200 Question Id : 54062619635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3T B Pls IUTad MNP
Options :

1. % gu-ggardl Rigid

2. ¢ HAR BT IS EPHIT

3. % HiYGIs FHS

4. % Id 3R TS

Question Id : 54062619630 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TR 1 0 ¥ U¢ 3R fau U ueli & IR S

PBER  FHIS H IGehR FHTS! BT FHIT H FRef0r febar AT H Tl STRITSSR, WaHTd, HIeTidhdl 3M1fS 1 i+ 4P JHIU iR U1 36
faRTy foba fob Tl b1 fowTd T8 g3 St STch 3(hTcy Tohi D BIC Hob| PR bl Hlckied ST Bl U fob Ieicb A e Tep bl fgwd
fopaft 7 18T 2| 39 PR I5iH THIS TUT & B 1] B! HBTa-MHBTam Fad A TG, STl A1 TGHR GOR B 3IdaTe & Tl
e B FaD! fearT SR EH-Eferdl B SR 36+ BT JUCKT ¢, U Al B JURD T AT Th A TS IR HR Riial
&1 freuuT fosan) &, Jar, Sifgan auT fAor anf &1 TR o SHwve T giayet &1 faviy faan st wmRadr, JAfaT quT el &t
SIeTaTd Pt U H TGHR Fadb - T (AR FHART T 39 THR HaR A GH-agdrel P10 SO-r 3R HYU=-d- Thdl R 9
{2 o UeM TSy, GUTSl YYRS 94T T Bid U) I oGty & o 09 &1 YR Ydifed DR GIHI D1 51 idaiar Uer &)

Sub questions

Question Number : 196 Question Id : 54062619631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER o 3fdIed dP| Bl dle DI &HdT fhdr H i a1 2
Options :

1. ¢ IgI ATATToTS Ay &1 TevTs ¥ ffReror faar ur
2. % HAR 30 IHT & UgH fagH &

3. % I ARl BT TR Sreqg= fopam ot

4. % d qra-foare # 93 A Y




Question Number : 197 Question Id : 54062619632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YRS & =0 | HER DI 57 TG U192

Options :

1. % I dIH-aferdl & Hgg Bt

2. ¢ 38i4 IS HeHTd d UGGl &l egdl d faviy faean
3. % I Yy & Ul SATRI HTIH Bt

4. % IQiA TR B Yrdl R § faar

Question Number : 198 Question Id : 54062619633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HAR A T geR for art &1 gaR faram

Options :

1. % YR Ged-ORFRT &1 faRIY HR

2. % Sl Yol &bl TS+ Hab

3. % YRA gRI

4. ¥ HHBIS 3R Gflgen & faRIe gRT

Question Number : 199 Question Id : 54062619634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
370 A B - 1 faRiy &1 yafgar T8l 82
Options :

1. ® fagwfa

2. % JRIY

3. A

4. % oy

Question Number : 200 Question Id : 54062619635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 3(0Q B Dlg IUYH Leb:
Options :

1. % gH-ggadre! Rigid

2. ¢ HER BT G DB
3. % giyere JaTs

4. % Td 3R gATS




